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Candidate should mark his/her answer only on the An-
swer-Sheet which is being provided separately.
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sheet (in 31 to 40-part I which language are you
attempting). by darken the bubble.
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Name, Roll No., Language, Category, Question Book-
let Series No, Series Code, Center Name, Center Code,
Signature at appropriate Columns/Boxes on OMR An-
swer Sheet, earmarked for this purpose, fully and cor-
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the candidate, his/her Answer-Sheet will not be
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PART-I GENERALAWARENESS / KNOWLEDGE

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta
(C) Hyderabad (D) Mumbai
2. The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun
3. The Territorial Army was established in :
(A) 1962 (B) 1948
(C) 1920 (D) 1953
4. Bijapur is known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavy rainfall Area
(D) Statue of Gomateswara
5. Light from the Sun reaches us in nearly :
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds
6.  Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(O) Kiran Jiju
(D) Marry Kom
7. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
8.  The ‘Akaal Takht’ was built by :
(A) Guru Ramdas
(B) Guru Teg Bahadur
(C) Guru Hargobind
(D) Guru Nanak
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BIoW SOl-ER F U 3 fhdbe < Ha
U ENG—HE WR Wl | Frafeilad § & waf

I+ 39T Jffe| e {9 Wolr?
(A) et (B) Tl
(C) TeRMEI (D) g=g

YR UAARIBY BISSYE Bl AT Pal
Rera 87

(A) DI (B) <fifef

(C) 77 feeed (D) &G
RIS T BT RATIAT He gAY 2f1?
(A) 1962 (B) 1948

(C) 1920 (D) 1953

TR fae ford ST SITar &7
(A) YT GERRAT &=

(B) et I

(C) 3ifay gfte aretr &3

(D) TR B Ui & ford

I BT UBIRT §H A fha=1 afe § ggad 57
(A) 2 e B) 4 e
(C) 8 fA-e (D) 16 ADHUS

fFrafeiRed § | A-TQR &1 acH= 3 S
27

(A) B Rig rad

(B) TH0 R Rig

(OREIGRNET

(D) HY B

I g W R T aMded & ATAR
I 3T & STFA H fforRad 7 4 faa!
AUET T2l Pl SICl?
(A) fa=mar

(C) deH

(B) i3 ama
(D) fdaRa a9

IpTIaRad’ BT HT o drrr or?
(A) T AT

(B) T% TR
(©) T% B

(D) T& T
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9. Who was the regent of Akbar in his early days ? 9.
(A) Abul Fazl (B) Bairam Khan
(C) Mansingh (D) Todarmal
10. Vikram Sarabhai Space Centre (VSSC)is located  10.
at:
(A) Thiruvanthapuram (B) Mumbai
(C) Hyderabad (D) Bengaluru
11. Find the HCF of 54, 288, 360 : 11.
(A) 18 B) 36
(C) 54 (D) 108
12.  What will be the LCM of 8,24, 36 and 54 : 12.
(A) 54 (B) 108
(C) 216 (D) 432
13. Find the simple interest on Rs. 5200 for 2 yearsat ~ 13.
the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624
14. Rs. 1200 is lent out at 5% per annum simple interest ~ 14.
for 3 years. Find out what would be the amount after
3 years ?
(A) Rs. 1380 (B) Rs. 1290
(C) Rs. 1470 (D) Rs. 1200
15. Rs.2100is lent out at compound interest of 5% per  15.
annum for 2 years. Find out what would be the
amount after two years:
(A) Rs. 2300 (B) Rs.2315.25
(C) Rs. 2310 (D) Rs. 2320
16.
16. If CANDLE is written as EYPBNC, in certain code

URMA®S BTt H [Hax B RIUSATAR BIF oAT?

(A) g oI (B) ot

(C) ArRTE (D) CrsvHd
faspe ARMTS SfaRer = Pal Rerd 87
(A) fredage (B) T

(C) BeRMET (D) 4ol

PART-I ELEMENTARY MATHEMATICS

then in that code FLAMES will be written as ;
(A) DJYKCQ (B) HNCOGU
(C) HICKGQ (D) KCHIJUA
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54,288,360 &1 HETH FHIYAAD ST DITI?

(A) 18 (B) 36
(C) 54 (D) 108

8,24, 36 3R 54 BT TGTH FHIGTD I DIOTI?
(A) 54 (B) 108
(C) 216 (D) 432

5200 ®YY P GERIA WR 6 ferd a1ffie & ©
I I 99 BT AR TS fhd=r grm?

(A) 450 =T (B) 524 %Y

(C) 600 BT (D) 624 T

1200 S9F HI RIS UiIerd ARer i
ST B & | A9 98] 918 fha=i 81 SREf1?
(A) 1380 T (B) 1290 ®uy
(C) 1470 ST (D) 1200 ST

2100 ST &Y F=RIY 5 ufoera &) aiffs amafy

o &) | & aY qrg fhadr & S
(A) 2300 U (B) 2315.25 U
(C) 2310 ST (D) 2320 T

If&¢ CANDLE &7 fdT e (drs) # EYPBNC
forRgd € A FLAMES &1 391 d¢ H & fola?
(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA
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17.

18.

19.

20.

21.

22.

23.

Choose the correct option in the place of question
mark (?):

2 4 6

18 ? 30
162 | 196 150
1458 | 1372 | 750

(A) 16 (B) 28
(C) 49 (D) 54

In a picture on wall Ram showed an old man and
said “his son is my son’s uncle”. How is the old
man related to Ram?
(A) Father

(C) Brother

(B) Grandfather
(D) Uncle

Choose correct option in the place of question
mark (?):

2 | 10 ] 40
12 | 50
14 [ 60

(A)3 B) 5

©)8 (D) 4

Evaluation of 8 x 82 x 87 is :

(A)1 B)0
©)8 (D) None of these

17.

18.

19.

20.

yefas &l Sfd fAeed | =1 FIH -

2 4 6

18 ? 30

162 | 196 150

1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

IR R T U f&F @l e ™ 9 garn
% 59 gg aafth & 43 R GF &7 9rer 2 |']H
F Jg | T |qaY T

(A) fo (B) Hfo

(OKIF] (D) =

U3 (?) D WM R 3 fdwed &1 a9+
DI

? 10 40

7 12 50

9 14 60
(A)3 B) 5
©)8 (D) 4

8 x8x85HI B B :
A) 1
(C) 8

B) 0
(D) SIRRH H PIg Aol

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

Find odd one out :
(A) Excel (B) Mouse
(C) Desktop (D) Key

Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin

With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football
(C) Cricket (D) Shooting
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SRIT &I ST DI

(A) TRl (B) #1949

(C) SThe™ (D) &I

. e W Aepcal # T &1 T BN -
(A) =TT (B) et

(C) TR EIEL

. QTG T30 BT Ay [ WA 57

(A) ZravST (B)W

(C) fopabe (D) gfew
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24.

Direction : In which answer figure specified

components of key figure are found ?

Key Figure:

Answer Figure :

Direction : In Q. No. 25 and 26 a related pair of words is

25.

26.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE : ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 27-30) Choose the correct altenative

given to replace the Question mark (?) :

27. NUMERAL: UEALRMN: :: ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
28. BDAC :FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
29. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(C) IuVvM (D) STUM
30. PNLJ:IGLC ::VTRP:?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
MASON-03

e : B9 A1 SR i H TERAT AT & faere

24.

25.

26.

ac faemme 87

R ST

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

fader : ue9 o 27 —30 ¥ T Abeal # WL Ay

27.

28.

29.

30.

BT I PIT ST U9 g & IH o 99 -

NUMERAL: UEALRMN :: ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC :FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR ::BCDE :?

(A) KLMJ (B) KLMN
(C) IuVM (D) STUM

PNLJ:IGLC :: VTRP:?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
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PART-I HINDI

R o 31 @ 32 : PreARRed argd § o o 39- N OTH | 3T & WS forw e wes

H Ffe 2 S9 fafza s BT 87 _
31. (A) IR (B) STHTEI
(A) TP BT A (C) gaxreg (D) TR
(B) g &1 A _
(C) &t &< ot 40. ;ﬁqé@ﬁgﬁﬂwé‘tﬁﬁmwm
a1g Ffe T —T ¥
v ¥ (A) 3D (B) T HIEH
32. (C) forre=fi (D) YR b
(A) ool | A
(B) X ¥
(C) ify forerch &
(D) IS e I
33, U’ P fAaH Il &
(A) <Y (B) BIaT
(C) 3t (D) B
34, ‘U BT faaH v 2
() 7 (B) 7Y
(C) uRig (D) =
35. ‘3T BT GIEr ¥eg T8l
(A) 3fqaq (B) 31T
(C) e (D) ueT

36. ‘HH B Il I T8l ©
(A) TH (B) e
(C) Sterst (D) B

37. BT BT HA F e B
(A) WETd & HHS  (B) FEl UK a%K]
(C) 3 o8 O] (D) WRATH &l I

38. T b R BT I B
(A) AfRh—HraT | &1 g% d<
(B) & <1
(C) SIBT IS BRI

(D) 37U HRAT
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PART-1 ENGLISH

Direction (31-32) : From the given alternatives in each

31.

32.

question, select the word which is opposite in
meaning of the underlined word :

Fluent :

(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
Reluctant:

(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

Directions (33-34) : In each of the following questions, a

33.

34.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answeris (D) :

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I'brushes my teeth every day at 7 O’clock in
the morning

(B) Ibrush my teeth every day at 7 O’clock in the
moming

(C) I brush my tooth every day at 7 O’clock in the
moming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Icanonly

(D) No improvement

Directions (35 -36) : In each of the following questions,

35.

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious

MASON-03

36.

(A) Fortuneate
(C) Forchunate

(B) Fortuneit
(D) Fortunate

Directions (37-38) : In the following questions, some parts

37.

38.

of the sentences have errors and some have none.
Find out which part of a sentence has an error. Ifa
sentence is free from error, then your answer is (D),
i.e. No Error :

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Every citizenis
(B) Entitled to

(C) Thevoting

(D) No error

Directions (39-40) : In each of the following questions,

39.

40.

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

Sheis......... oflizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

The priest was innocent ...................... he could not
proveit:

(A) and (B) but

(C) for (D) so

SET-A



41.

42.

43.

44,

45.

46.

47.

48.

PART-II MASON

For 12 mm thick 1 : 6 cement sand plaster for
100 m? on new brickwork the quantity of cement
and sand required is :

(A)0.3m’*and 1.8 m°

(B) 0.2 m?and 1.3 m?

(C)0.3m*and 1.5 m?

(D) 0.6 m* and 2.3 m?

For 12 mm thick 1:3 cement sand plaster for
100 m? on new brickwork the quantity of cement
required is :
(A) 0.3 m?
(©)0.5m’

(B) 0.45 m’
(D) 0.6 m®

A certain amount required to be deposited (2%) of
the estimated cost by a contracter while submitting
atender is known as :
(A) Tender

(C) Security Money

(B) Contract
(D) Earnest money

Certain percentage over the actual cost of the
construction as his profit is paid, the contract is
known as :

(A) Labour contract

(B) Special contract

(C) Cost plus percentage contract

(D) Lump sum contract

When contractor fails to complete the work the
penalty may be fixed as a certain percentage not
more than :
(A) 10%
(C) 4%

(B) 5%
(D) 2%

The brick work is not measured by income in
case of :

(A) One or more thick brick wall

(B) Brick work in arches

(C) Half brick wall

(D) R B work

The density of cement is generally taken as :
(A) 1500 kg/m? (B) 1750 kg/m?
(C) 1250 kg/m? (D) 2000 kg/m?

The weight of cement in one bag is :
(A)45kg (B) 50 kg
(C)60kg (D) 65 kg

MASON-03

41.

42.

43.

44,

45.

46.

47.

48.

98 3¢ W 100 m?*® foTT 12mm A 1:6
e YT wiex & fov srasye WiHe 3R Yd
P AT BT fHa- MaeIHdr BRI?

(A) 0.3 m* 3R 1.8 m?

(B) 0.2 m33iR 1.3 m’

(C) 0.3 m33R 1.5m?

(D) 0.6 m33iR 2.3 m?

100 m*® foIU 12 mm AT 1:3 W T ©ReX

& foIU e A% Sc & forv mavas e &
A= fha= @Ry ?

(A) 0.3 m’ (B) 0.45 m’

(©)0.5m? (D) 0.6 m*

U ARFd IR % SdheR gRT Uah Afdar
AT TFA B ST (2%) fhar Srar 2 1 g4
faf¥aa ¥ &1 «=&r F=d &

(A) TR (B) TgaeT

(C) iyt (D) AT Goit

U AM & WY H IO B aR<fdd dETa |
e fafza uftera ram fear smar 2
ey fra wu # ST ST 2

(A) 5 SHER

(B) eIy SdharR

(C) TRTd I Ufield SHharR

(D) T T Ireel

T4 SHER B DI G A H fAwdt I8 2|
<s U AfeEa ufded & w9 # 781 &) o |

e fHeiRa fear < |oar &
(A) 10% B) 5%
(C) 4% D) 2%

ST B B YoITell H 399 ¥ a9 @ SHTS
H T AT ST ®

(A) T a7 31fd% AT §2 @) d1aR

(B) FEXd H Sc & B

(C) 3meft g2 @ SR

(D)RBT®

e & g9 M9 dR TR JET SIdT 8 2
(A) 1500 kg/m’ (B) 1750 kg/m’

(C) 1250 kg/m? (D) 2000 kg/m?
J¥c & TP 97 BT fhaar 9R sHm?
(A) 45 kg (B) 50 kg
(C) 60 kg (D) 65 kg
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49.

50.

51.

52.

53.

54.

55.

56.

For plastering the exposed brick masonry the ratio
of cement mortar is :
A)1:6
C©)1:8

B)1:3
(D)1:10

For 10 cubic metre cement concrete (1:1:5: 3)
the quantity of aggregate cement and sand required
are :

(A) 8.40m?, 2.8m* and 4.2 m®

(B) 8.8m% 2.2m* and 4.3 m?
(C)4.4m3,2.3m3and 1.5 m?

(D) 9.0m3, 6.6m?* and 3.3 m?

The unit of weight of C.C. in KN/m?is :

(A) 12 B) 18
(C) 25 (D) 24

Depth of foundations is designed on the basis of :
(A) Rankine’stheory  (B) Dorcey’s theory
(C) Khosla theory (D) Lacey’s theory

In an arch, the resisting forces are developed by :
(A) Vertical reaction at supports

(B) Providing hinged support

(C) Horizontal thrust at supports

(D) All the above

A junction at which two walls meet at an angle
other than 90° is called :

(A) Oblique junction

(B) Squint junction

(C) Irregular junction

(D) Obtuse junction

The red colour of brick is due to the presence on
brick earth :
(A) Clay

(C) Iron Oxide

(B) Sand
(D) Magnesia

The strength of brick masonry in compression will
depend on :

(A) Strength of brick unit

(B) Strength of mortar used

(C) Thickness of mortar in the joints

(D) All the above parameter

MASON-03

49.

50.

51.

52.

53.

54.

55.

56.

e o e wiRex & foru e Aers a1

SIS & -
(A)1:6 B)1:3
©)1:8 MD)1:10

10 &9 Hier AR deple (1:1:5: 3) ol THC
IR T BT AT BT fHadr MmaeIHT 87

(A) 8.40m?, 2.8m3 3R 4.2 m?

(B) 8.8m°, 2.2m’ 3iR 4.3 m’

(C) 4.4m3,2.3m3 3R 1.5 m?

(D) 9.0m?, 6.6m> 3R 3.3 m?

C.C. BT $PhTs YR KN/m?&:

(A) 12 B) 18
(C) 25 (D) 24

T BT TS P MR W IR AT B
(A) ¥ @1 Rigia  (B) st Rigid
(C)@en R1gid@ (D) ot fagia

U 3T H ORI 91 fhde g1 faafid gar 2
(A) @St vfafehar &1 F9ef= o &

(B) EiSTS WEIAT Uam™

(C) &fcst IR &1 HfH ovar &

(D) SURIG 4!

U SR 8 S &1 SIIRI BT Al R Th I
ST 90° & 3TelTdl 3 G DB o

(A) TRIET SR

(B) whide STav™

(OKIERIESRSELNR]

(D) Bfed Saer

g
(A) faed (B) xd
(C) 3MRA IMaNirgs (D) ATferT

BT ool T Bl Gl TR SR BT BRI

Tires aigd ¥ sc A @7 dred R AR
BT &

(A) 3¢ SHTE DI ATHA

(B) AiICX ®I ATHd BT SWIATS (b

(C) ST # Al &I AleTS

(D) SURIad 4!
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57.

In brick masonry walls the vertical joints are

staggered to :

(A) Increase strength of the wall

(B) Home load distribution along the length of the
wall

(C) Both (A) and (B)
(D) None ofthe above
58. The process of applying mortar or concrete under
pneumatic pressure is known as :
(A) Gunnting (B) Cementing
(C) Firing (D) Injecting
59. To threat voids in masonry the holes are drilled at
anangle of :
(A) 90° (B) 110°
(C) 60° (D) 45°
60. The formwork from the underside of slabs, can be
removed only after :
(A) 1 day (B) 3 days
(C) 7 days (D) 14 days
61. Floors that are cast directly on top of a sub-base is
called :
(A) Concrete floors
(B) Suspended floors
(C) Ground floors
(D) Mezzanine floors
62. Thenominal thickness of one brick wall inmmiis :
(A) 90 mm (B) 150 mm
(C) 190 mm (D) 200 mm
63. Inenglish bond stretcher overlaps up to a certain
length over the header course is about :
(A) 10% (B) 25%
(C) 50% (D) 75%
64. Depth oflean concrete bed placed at the bottom of
awall footing is kept :
(A) 10 cm
(B) 15cm
(C) Equal to its projection beyond wall base
(D) Less than its projection beyond wall base
MASON-03

57.

38.

59.

60.

61.

62.

63.

64.

sc e 4 @9l Sie IR @t a3 ©
(A) IR ®I ATHT 9™

(B) TR B! AIS ST

(C) (A) 3R (B) &I

(D) SRRH H A BIg 78

qrIdg S91d H Al AT S (concrete) JTTAaA
PR B GihAT BT fbd wa § SET ST @
(A) TERT (B) SireT

(C) BRI (D) S=ifdeT

fefamadl fomg 5 9T & BT WR drilled BT BT
PIT T
(A) 90°
(C) 60°

(B) 110°
(D) 45°

e & A W formwork @1 fhdd feAi 918
gl ST 8
(A)1 &=
(C) 7 f&Ai

(B) 3 fa=
(D) 14 f&=i

AT S I U SU MR & Y O g8 SfTel!
g P R PHEl oIl &

(A) BhIc & g7 B

(B) Feifaa wiorer

(C) Y—cTet HfTer

(D) Mezzanine HfoTel

TF $C BT SR B AMAR TR fha=1 Arers g
27

(A) 90 mm
(C) 190 mm

(B) 150 mm
(D) 200 mm

R dfs # AR BT o9 g% e W fohal
BT a1
(A) 10%
(C) 50%

(B) 25%
D) 75%

oI Phlc &I TExTs Udh SR Hld & ddf IR
I ST &

(A) 10 cm

(B) 15cm

(C) IR § I IR—3U Y& P aRIER

(D) TR 419 & 319 YeqoT | HH
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65.

66.

67.

68.

69.

70.

71.

72.

73.

Suitable spacing of timber piles is :
(A) 50 cm (B) 60 cm
(C) 70 cm (D) 80 cm

Pile foundations are suitable for :
(A) Water logged soils

(B) Soft rocks

(C) Compact soils

(D) Multistoreyed buildings

For the construction of flyovers in sandy soil, the
type of foundation provided is :

(A) Strap footing (B) Roft footing

(C) Combined footing (D) Pier footing

In horizontal D.P.C. thickness of cement concrete

(1:2:4)1s:
(A) 2cm (B) 4cm
(C) m (D) 8cm

The inner section of cavity wall, is generally
known as :

(A) Buttress
(C) Pilaster

(B) Leftwall
(D) Pillar

A temparary rigid structure having platforms to
enable masons to work at different stages of

building is known as :
(A) Scaffolding (B) Dead store
(C) Raking store (D) Under pinning

The dimensions of a half queen closer is :
(A)9cmx9cmx9cm
B)9cmx9cmx4.5cm
(C©)9cmx4.5cmx9cm

(D) 1.8cmx4.5cmx 9 cm

The piece of a brick cut with its one corner
equivalent to halfthe length and half the width of a
full brick is known as :
(A) Queen Closer
(C) King Closer

(B) Bevelled closer
(D) Halfking closer

Exposed portions of vertical surface at right angles
to the door or window frame, are known as :

(A) Jambs (B) Lintels

(C) Reveals (D) Soffits

MASON-03

65.

66.

67.

68.

69.

70.

71.

72.

73.

B! Ulgel B IUYad g3 b= BleT
ey :

(A) 50 cm
(C) 70 cm

(B) 60 cm
(D) 80 cm

aTgel Hid UG ®
(A) U dvs et
(B) ©I"A 4R

(C) dae fied)
(D) Ig—Hfell $RA

el gl § garseiar & T & forw i
fp9 YbR Ue fhar Srar &

(A) USTT 3R (B) §ST AR
(C)Wga MR (D) ¥1C MR

e daie (1:2:4) 7 &fder D.P.C. 3T Al
fpas rf?

(A) 2cm (B) 4cm

(C) 6m (D) 8cm

o T[aT faaR &1 ARl =S BT HAR TR
HEl ATl T

(A) T4 (B)z_rﬁ;fa-crr\r

(C) elRex (D) =™

U IRATE HOR T TR FaAT IS A=
TR H HTH B & DI T HEd &

(A) FeT (B) T R

(C) IR Tt (D) 3= foAfTT

N queen closer ST BT AT T T
(A)9cmx9cmx 9cm
B)9cmx9cmx4.5cm
(©)9cmx4.5cmx9cm

(D) 1.8cmx4.5cmx9cm

Udh ST BT 98 ¢hel ol o s g dlsly & ALl
Bl fAe™ arel I BT HIe & 918 U< aIdl §
FT HEd T -

(A) RIT FATR
(C) fH 7T FroR

(B) fadiers TailoR
(D) mfl fH T FeloR

garolT AT RIsd! & BH A THHIUT R Wl
AdE & AFH | MR & ®U H ST STl &
(A) T= (B) ¥Rad

(C) Raet (D) vd
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75.

76.

77.

78.

79.

80.

81.

82.

&3.

The header bond is generally used for :
(A) Halfbrick wall (B) Simple brick wall
(C) 14 brick wall (D) Arches

The stretcher bond is generally used for :
(A) Halfbrick wall (B) Simple brick wall
(C) 1%2 brick wall (D) Arches

The brick at exterior angle between outer faces of
awall is known as :
(A) Tum

(C) Quion

(B) Junction
(D) All the above

The stone masonry of finely dressed stones laid in
cement or lime s :

(A) Random Rubble masonry

(B) Coursed Rubble masonry

(C) Dry Rubble masonry

(D) Ashlar masonry

A wall constructed to resist the pressure of an earth

filling is called :
(A) Retaining wall (B) Breast wall
(C) Buttress (D) Parapet wall

The under surface of an arch is called :
(A) Soffit (B) Intrados
(C) Hannch (D) Back

An arch constructed with finely dressed stones is
known as :

(A) Ashlararch
(C) Gauged arch

(B) Rubber arch
(D) Axied arch

The angle between skew back of a flat arch and the
horizontal is kept approximately equal to :

(A) 0° (B) 30°

(C) 60° (D) 90°

Arches in the form of masonry arch struck from more
than four centres are called :

(A) Two curved arches (B) Gothic arches

(C) Ogee arches (D) Drop gothic arches

The stone blocks approximately triangular in shape
used as steps are known :

(A) Stone steps (B) Builtup steps

(C) Spandril steps (D) None of these
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ge¥ 9¢9 AR fhg & forw g fovar e 2
(A) IR $e B IR (B) IR g€ & AR
(C) 1% $¢ & <R (D) HeNd

TR U9 IH—dR fhd 3¢ & IR & fov
TNT fhar ST &

(A) meft g @ aR (B) ARV $¢ @1 SR
(C) 1% 3€ & TR (D) Hexd

TP SIIR © 918 8RB §1d 918 DI IR o )
¢ ol fog wu § ST e 2

(A) e (B) Staer

(C) Brfra (D) SWRIFT T4

TIR Ue2Ri BT TR} &) A8 eep WiHie 3R
AT Bl TRR B HEA &

(A) XvsH wae oA TS

(B) €< TR 3¢ g

(C) Tt 3rrg feong

(D) g% forre

el & <a1a BT e dTell IR FIT HEdT ©

.(A)‘cﬁm'\’ 97 G (B) S <R

(C) 5™ (D) s & AR
Udh HENTd Pl 3 Pl AdE Bl Hhad 87
(A) B (B) g

(C) S (D) 4

U HExTd dl (H0T & I IR gkl &l ded
2

(A) PR HERTq (B) Field TR BT HENTq
(ORNSREE] (D) TaFS HeXTd

TP Telc a9 & foRBT a9 @ik &afad @ 99 &
PIOT B I aRTER T ST ®:

A)0° (B) 30°

(C) 60° (D) 90°

IR AP bal J h s A/ & wy

HENd PHal ol @

(A) T d% HeRd (B) e #evd

(C) fg=m #evre (D) SfT Mfers HexTg

TR &f® (shape) § o Harfm @=oi &

T H AT R B B

(A) TR ® TR (B) AT aRoT

(C) W=l =RV (D) §74 ¥ DIg 81
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84. The members which support covering material of
asloping roof are:
(A) Rafters (B) Purlins
(C) Battens (D) Struts

85. The member which is placed horizontally to
support common rafter of a sloping roof'is :
(A) Purlin (B) Cleat
(C) Batten (D) Strut

86. The size ofa floor tile commonly used is :
(A)15cmx 15cmx 1.8 cm
B)20cmx20cmx2cm
(C)22.5cmx22.5cmx2.2cm
(D) All the above

87. Injack arch floor the rise is kept :
(A) 1/6™ of span
(B) 1/8™ of the span
) 1 %Ozh of span
(D) 1/12%" of the span

88. The type of pointing in which upper side of mortar
joints is kept about 12 mm inside the face of the
masonry and bottom is kept flushed with face of
wallis:
(A) Truck pointing
(B) Recessed pointing
(C) Struck pointing
(D) Ground pointing

89. The skirting/ dedo in bath room should be up to :
(A) Ceiling
(B) 15 cmabove floor level
(C) 200 cm
(D) Level of the top

90. Expansion joints in masonry walls are provided if
length exceeds :
(A) 10m (B) 20 m
(C)30m (D) 40 m

91. For plastering the exposed brick walls, the cement
sand mortar should be :
(A)1:2 B)1:3
O©)1:4 MD)1:6
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T ST Gle] B DI AR BT HaR HIA Bl
I PR ® =

(B) ufe=

(D) ¥

Tl B & DA IS Bl FUIE A arell
Bferet 3rqgd T BT ©

(A) TR (B) fdere

(C) de (D) A5

ool €Tgol BT AR IR fhd 3MHR H ST
o ST &

(A)15cmx 15cmx 1.8 cm

(B) 20cmx20cmx 2 cm
(C)22.5cmx22.5cmx2.2cm

(D) SIRIH T

S WexTd HfoTel H SIAr W@ ST ©
(A) IR &7 1/6™ 91T
(B) IR &7 1/8™ 417

(C) TR &1 l%ozh AT
(D) [TRR &1 1/12% 91T

U & UbR 2 FOrH Ay Siel & W 3R
frpTs 3R A BT ATHAT B b IR | 37<X 12
mm &7 8 wall & ATER B 1T AT a7 STt
2

(A) T ¢

(B) BT g9 UrefeT

(C) ARAT (PTc <) UrefeT

(D) & arefeT

qUHH H skirting / ST BT IGAT A1
(A) 31f&dHaH AT (Ceiling)

(B) Hoflel &R ¥ 15 cm WX

(C) 200 cm

(D) Y BT W

RS @1 ARl H Wad IR &1 =18
IR 3fdd BT ATRY

(A) 10m (B) 20m

(C)30m (D) 40 m

IR $€ B SMART WS RS & U
BT =12 -
(A)1:2
€)1:4

B)1:3
D)1:6
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92. Forbrick construction the lime sand mortar is :
A)1:1 B)1:2
O©1:3 D)1:4
93. The form work from the sides of beams can be
removed only after :
(A) 1 day (B) 4 days
(C) 7 days (D) 14 days
94. The form work from the slabs excluding props,
can be removed from beams only after :
(A) 3 days (B) 7 days
(C) 14 days (D) 21 days
95. Which tool is used for cutting soft bricks and
dressing cut surfaces :
(A) Trowel (B) Scutch
(C) Spritlevel (D) Brick axe
96. Hoffman’s kilnis used for :
(A) Burning oflime
(B) Burning of brick
(C) Burning of cement
(D) Burning of wood
97. Ifrain water falls on hot brick then the shape of the
brick gets deformed, the defect being known as :
(A) Bloating (B) Nodules
(C) Chuffs (D) Efflorescence
98. Which one of the following tools is generally not
used in blasting and stone work?
(A) Mallet (B) Trovel
(C) Chisel (D) Sledge Hammer
99. Efflorescence of bricks is caused by :
(A) The high PH content of water is used during
pugging
(B) The low PH content of water is used during
pugging
(C) The presence of alkaline salts
(D) Low silica content of the bricks
100. The joints in the pointing should be raked out to
which depth :
(A) 10mm (B) 12mm
(C) 15mm (D) 18 mm
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A)1:1 B)1:2

O©1:3 D)1:4

99 & Uell ¥ B B 9 B 9IS 8 ST o
AhdT B

A1 &3 (B) 4 f&Ai

(C) 7 f&Ai (D) 14 f&=i

9 I form work BT fhaw fe=l 919 germ
ST 27

(A)3 & (B) 7 f&Ai

(C) 14 fa=i (D) 21 fe=i

PIT—T SYBRYT $&i Bl Bled H s fhar
SITT 87

(A) et (B) ¥ d

(C) Wi ofaa (D) BeETs!

2% {7 oo &1y f & forg fomam
ST &

(A) T ST & for

(B) $€ ST o forg

(C) ¥r¥e SeH & forg

(D) B! STef™ & fery

TH S TR I9T BT AT TS 3 SADT ATHR
WRI 8 WAl ®, 39 YbR ST~ QY Bl T

PRI ST g
(A) gelifes (B) ArsYcH
D)

(C) TTHd

=1 oIk & 9 {5 VIR &1 e 3R
YR @ ®R H YANT Fe) fhar Siar?

(A) fefe (B) g

(C) farorat (D) ¥l BT

foa dRoT 9 €2i H ThaRN
(Efflorescence) ST BT &

(A) IR & SR STANT H AT Y STl &l
PH S=d BT % |

B) U7 & SR STANT H oY TV STl &l
PH = T 2|

(C) alkaline salts @1 SUReIfT & ATg ST & |
(D) Sci # silica @1 #3T &H BT |

100. @TgfeT & Sirel & <©F fha- W&l <) 2872

(A) 10mm
(C) 15mm

(B) 12mm
(D) 18 mm
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6. There are 16 pages in this Question-Booklet. | 6. 9 Wei—gRT®T # H{A 16 T & | IRNGAR DI T
Candidate on receiving his’/her Question-Booklet, W—gﬁﬂm e IR IS9P g ey 2 afe gemedt
should check the pages of the Question-Booklet. If a DI DS SRR 3fer@T VYO yE—gRADHT e 7 ar
candidate receives an incomplete or defective  Ques- I8 N B WAEH F U] BN S URET TN
tion-Booklet, he/she should make a request to the B B 10 e & 3rex goodr g & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. IRfGaR YTA—YRDHT UaH STR—UAH H el A1 3T
tion mark anywhere in the Question- Booklet or in A e 3 grar srrar fafdre ug== aran &1 fAema
the Answer-Sheet. Any such mark, if found, will be q ST | AT T UhR BT PHIs {2 U 737 dl 98
termed as ‘Canvassing’ and paper of such candidate HIRAT AT ST 3R VA IRNGIR BT IR I8a
will be cancelled. PR AT S |

8. Do not detach any leaf from the Question-Booklet. | 8. Uz —gRT®T # & BIS TS 3T 9 B | TRIEAT & ggard
After the Examination, hand over separately the gof ge—gRA®T 3R ITR—UTH SN & UIdedd Bl
entire Question-Booklet and Answer-Sheet to the drer <
Invigilator.

9. For each question, four alternative answers have | 9. U Usd & U IR IR fAdoy Ay v & RBFH A
been provided, out of which only one is correct. Badt Uh & w21 =1 (A), (B), (C), 3k (D) & wax
Darken the appropriate circle in the Answer-Sheet T2 fahed B ddcd It / Blcl dicd Ulge U BT
by way of using Blue/Black Ball Point Pen, on the BT Y STR—UFH H ST el BT 7R < |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@ yed & IR & ®Y § dad UF & T8l Adwed
answer. If response is indicated on more than one 2 Igfe b g3 & forw ue ¥ &1 fahedi U forem=
alternatives or the circle has not been darkened SRTTT T7T 2 31al el bl STIR—UFH § Iy T &I
properly in the Answer-Sheet, as required, it will ¥ et (Dark) =&} frar 721 & A1 S Teld SR AT
be treated as invalid answer and no mark will be G'TQ"TT AR 99 SR B U I i ST FonT |
awarded for that answer.

11. No correction in Answer Column is permissible. | 11. T qR faU MU IR # S YR & GuR AT e
Hence candidate should be very sure about correct B AT 8l 2| gafay SHIQaR gRT el &l W=+
answer before darkening the appropriate circle. In ¥ Yygel Wel SR gHEa s forar Se | & ge
case of corrections or double marking of circles P IR H IR B IR AT AT Tl Bl AR TR I
against same question, it will be treated as 3T AT STRIATT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, [ 12 wden 9o & deigmeey, e SRR, AqER B
Cellular Phone and Pager in the Examination Hall is T AR BT SO T AT TR 3BT YANT BT
prohibited. Iy 2

13. Each question carries one mark. There is no | 13, yx% UST &I Th b & | Told SN P [T BIs 3ib
negative marking for any wrong answer. 31 BIel ST |

14. If any discrepancy in the Hindi translated version of | 14. af¢ f& w17 & ued & 2= w191 & 1gaQ # &8
any question is found, the question given in English Ffe U Sl & o SfFSn W ¥ fear T ue g
language will be treated as final. JfH 8T |
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PART-I GENERALAWARENESS / KNOWLEDGE

The Territorial Army was established in :

(A) 1962 (B) 1948
(C) 1920 (D) 1953
2. Bijapuris known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara
3.  Light fromthe Sun reaches us in nearly :
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds
4.  Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(C) Kiran Jiju
(D) Marry Kom
5. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
6. The ‘Akaal Takht’ was built by :
(A) Guru Ramdas
(B) Guru Teg Bahadur
(C) Guru Hargobind
(D) Guru Nanak
7. Who was the regent of Akbar in his early days ?
(A) Abul Fazl (B) Bairam Khan
(C) Mansingh (D) Todarmal
8.  Vikram Sarabhai Space Centre (VSSC) is located
at:
(A) Thiruvanthapuram (B) Mumbai
(C) Hyderabad (D) Bengaluru
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I BT UBI 8H I b=l Al § ugadm &7
(A) 2 e (B) 4 e
(C) 8 e (D) 16 VDTS

F=feRad H | A IgR &1 qa9= J@HaT B
27

(A) Brd=s Rig Jaa

(B) TH0 dNA g

(OREIGRNET

(D) Y B

I g W I T Ahed b FIAR
RIS 3R & A | FrefeiRad 7 4 faaa
AU A8 DI SITC?

(A) foxra (B) i3 ama
(C) U= (D) =rfaaRa o9
‘IpTIaRa]’ BT HT b drrr or?
(A) T RHETH

(B) & TIIETR

(C) T® &XMfdg

(D) T T

URMA® BT H AHaR BT RIUSATAR DI o1?
(A) g Bopet (B) ol

(C) 9RTE (D) I
faspa ARMTS 3fdRer = Pal Rerd 87
(A) fowdaqRe (B) T

(C) eexIETE (D) §7Telo

SET-B



10.

11.

12.

13.

14.

15.

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :

(A) Kolkata (B) Darjeeling

(C) New Delhi (D) Dehradun

9.

10.

BTRg SO-RR o 39T 3ifaH fhde e a9
U BNG—HETH WR el | Fforad # | wsf

IBI 3T IffH e Fa WaAr?
(A) foeet (B) el
(QRENEIE! (D) g%

YR UAaRIB HISSYH & AT Hel
Rera 27

(A) DABT
(C) 3 faeelt

(B) wifuifer
(D) <&

PART-I ELEMENTARY MATHEMATICS

Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount after

3 years ?
(A) Rs. 1380 (B) Rs. 1290
(C)Rs. 1470 (D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5% per
annum for 2 years. Find out what would be the

amount after two years:
(A) Rs. 2300 (B) Rs.2315.25
(C) Rs. 2310 (D) Rs. 2320

If CANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

Choose the correct option in the place of question
mark (?):

2 4 6

18 ? 30

162 | 196 150

1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

MASON-03

11.

12.

13.

14.

15.

5200 ®UY Bl FRIFT IR 6 UfArd a1ffie &l %

I ST 9T BT ARV TS fhadr R?
(A) 450 ST (B) 524 ®Y
(C) 600 BT (D) 624 ST

1200 U0 &1 g=RIFT 5 Ufcrerd AremRer aifiya
TS BT TR F A9 U7 91 fhad=1 8 SIefY?
(A) 1380 U (B) 1290 ®uy
(C) 1470 ST (D) 1200 ST

2100 ST &Y F=RIFY 5 ufoera &) aiffs aswafy

o <) 9 & aY 978 fhadr & S
(A) 2300 T (B) 2315.25 0
(C) 2310 B9 (D) 2320 TI

If& CANDLE &7 f#T e (drs) # EYPBNC
forRgd € A1 FLAMES &1 391 d¢ H @ fofa?
(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

yefas &I Sfd fAeed § =1 $IH -

2 4 6

18 ? 30

162 | 196 150

1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54
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16. Inapicture on wall Ram showed anold manand 16, S9N W o1 U = &1 f@rex | = gdmam

said “his son is my son’s uncle”. How is the old % 59 95 @6 &1 g3 WX QI &1 a1 & "I
man related to Ram? P J§ A T FEY ©

(A) Father (B) Grandfather (A) fuar (B) ufuar

(C) Brother (D) Uncle (C) g (D) ==

17. Choose correct option in the place of question 17. e (?) B W W 3T fabeg &7 g3+

mark (?): DIRTY
? 10 40 ? 10 40
7 12 50 7 12 50
14 60 9 14 60
(A) 3 B) 5 (A3 ®B)5
(C) 8 D)4 ©)8 (D)4
18. Evaluation of 8 x 82 x 87 1is: 18. 8 x8x 8P A B
(A)1 B)0 (A) 1 ®) 0
©)8 (D) None of these ©)8 (D) SIRIH H PIg Aal
19. Find the HCF of 54, 288,360 : 19. 54,288,360 &I Ha<H FHAMAND SITd DITA?
(A) 18 (B) 36 (A) 18 (B) 36
(©) 54 (D) 108 (C) 54 (D) 108
20. What will be the LCM 0of 8, 24,36 and 54 : 20. 8,24,363IR 54 ®T T A FHATIAA D ST DISTI?
(A) 54 (B) 108 (A) 54 (B) 108
(C) 216 (D) 432 (C) 216 (D) 432

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

21. With which sport Dibeyendu Barua is asociated? 21. éég T3 B ey g W ¥ 27

(A) Chess (B) Football (A) TR (B) Bedrat
(C) Cricket (D) Shooting (C) fhae (D) gfer
Direction : In which answer figure specified components  fdfer : BIF ¥ ITR AMHIT H TARIT MNP & ferse
of key figure are found ? a faemmE 27
22. KeyFigure: 22. FHRIT 3Pl
$X 3T d

Answer Figure : . / $+
" ) @A) & B) \$5a
o
A
®'0
=
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Direction : In Q. No. 23 and 24 a related pair of words is

23.

24.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE : ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 25-28) Choose the correct altenative

given to replace the Question mark (?) :

25. NUMERAL:UEALRMN:: ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
26. BDAC:FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
27. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(C) IUVM (D) STUM
28. PNLJ:IGLC :: VTRP:?
(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
29. Find odd one out :
(A) Excel (B) Mouse
(C) Desktop (D) Key
30. Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin
MASON-03

fader : 39 Wo 23 —24 H v}

23.

24.

T 7 | QU T fadedl § | 99 Siie Bl g
ST dfied ¥ A T Siie ST |ee g9rdr @

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

foder : ueT o 25 —28 oy T [Ahedl # WL Ay

25.

26.

27.

28.

29.

30.

BT T P ST U9 g & 4 o 99 -

NUMERAL: UEALRMN : : ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC :FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR ::BCDE :?

(A) KLMJ (B) KLMN
(C) IuVM (D) STUM

PNLJ:IGLC :: VIRP:?

(A) QMKI (B) RSTU

(C) QSRC (D) RPOM

NI Bl ST PO

(A) TaRTe (B) A1S¥

(C) SEher (D) &

I T RApcal #§ GTd BT T I -
(A) TR (B) #ireA

(C) TRY (D) ST

SET-B



PART-I HINDI

31, G Bl fadd vreg 2
(A) g (B) 3T
(C) 3t (D) B
32. YA BT fadiv Ieg 2
(A) 9177 (B) I
(C) uRig (D) =TT
33. ‘3 BT UG g BT B
(A) 3rqad (B) 31T
(C) 3t (D) wat
34, ‘BHS BT UG g T8I B
(A) HHT (B) ¥R
(C) STt (D) &
35. BIT BT A’ I 371 7 ¢
(A) WETd & HA1S  (B) FESl UK a%]
(C) 3T 28 9% (D) URATHT &1 &
36. IR B IR BT I B
(A) 9RF—TaT | &1 g8 wc
(B) T <A1
(C) SIBT IS BRIl
(D) 37U BHRAT
37. ST 9T 9 3T B 39D ol Udh e
HIT—T 87
(A) XRETH (B) ST=TEr
(C) gaRTg (D) IR
38. S q@d H 0¥ onar ©° & folv uah v’
PIT—T B8?
(A) 3Ty (B) H-THIED
(C) ez (D) IRellfdd
MASON-03

fAder yo 39 & 40 : f=feRaa gy & 17 of9r

39.

40.

¥ 3t 3 o fafed @R

(A) TSI BT I
(B) T &1 A
(C) &1 & <iall
(D) P1E Ffe T

(A) oo | A

(B) &= A
(C) =nify forerch
(D) dIS Ffe &l

SET-B



PART-1 ENGLISH

Directions (31-32) : In each of the following questions, a

31.

32.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answeris (D):

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I'brushes my teeth every day at 7 O’clock in
the morning

(B) I brush my teeth every day at 7 O’clock in the
moming

(C) I'brush my tooth every day at 7 O’clock in the
morming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Ican only

(D) No improvement

Directions (33 -34) : In each of the following questions,

33.

34.

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous
(D) Simultanious

(A) Fortuneate
(C) Forchunate

(B) Fortuneit
(D) Fortunate

MASON-03

Directions (35-36) : In the following questions, some parts

35.

36.

of the sentences have errors and some have none.
Find out which part of a sentence has an error. If a
sentence is free from error, then your answer is (D),
i.e. No Error:

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Every citizenis
(B) Entitled to

(C) The voting

(D) No error

Directions (37-38) : In each of the following questions,

37.

38.

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

Sheis......... of'lizards :

(A) tearful (B) frightened

(C) afraid (D) terrified

The priest was innocent ...................... he could not
proveit:

(A) and (B) but

(C) for (D) so

Direction (39-40) : From the given alternatives in each

39.

40.

question, select the word which is opposite in
meaning of the underlined word :

Fluent :

(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
Reluctant:

(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

SET-B



41.

42.

43.

44,

45.

46.

47.

48.

PART-II MASON

The unit of weight of C.C. in KN/m®is :

(A) 12 B) 18
(C) 25 (D) 24

Depth of foundations is designed on the basis of :
(A) Rankine’stheory  (B) Dorcey’s theory
(C) Khosla theory (D) Lacey’s theory

In an arch, the resisting forces are developed by :
(A) Vertical reaction at supports

(B) Providing hinged support

(C) Horizontal thrust at supports

(D) All the above

A junction at which two walls meet at an angle
other than 90° is called :

(A) Oblique junction

(B) Squint junction

(C) Irregular junction

(D) Obtuse junction

The red colour of brick is due to the presence on
brick earth :
(A) Clay

(C) Iron Oxide

(B) Sand
(D) Magnesia

The strength of brick masonry in compression will
depend on :

(A) Strength of brick unit

(B) Strength of mortar used

(C) Thickness of mortar in the joints

(D) All the above parameter

In brick masonry walls the vertical joints are

staggered to :

(A) Increase strength of the wall

(B) Home load distribution along the length of the
wall

(C) Both (A) and (B)

(D) None of the above

The process of applying mortar or concrete under
pneumatic pressure is known as :

(A) Gunnting (B) Cementing

(C) Firing (D) Injecting

MASON-03

41.

42.

43.

44,

45.

46.

47.

48.

C.C. BT $BTs R KN/m*2:
(A) 12 (B) 18
(C) 25 (D) 24

g @1 TS Y SR W 99T AT 8
(A) X @ Rigia  (B) ST Rigid
(C)@Ne frgid (D) ot Rigia

TS 3 # Ry 9ot fods g1 fasRia gar &
(A) TS gfafshar &1 FHd= HRar &

(B) BicTs HERIAT UG

(C) &frsT SR BT |HH HRar ©

(D) SWRIFT T4

U SI9eM © Sl &I S1aRI ®f e W) Td $Iof
S 90° & AT A §d HEAT &

(A) TRIeT SR

(B) Whfde Siar™

(OKIERIESRSELE]

(D) Bfed e

i
(A) faed (B) ~d
(C) 3MRRA 3MaNfge (D) AT

BT olel T B Yl IR YR BT BROT

e ga | g¢ M @ ardd W R
HRT &

(A) 3¢ SHIY DI ATHd

(B) AICR &I dTdhd BT SKIATS {haT

(C) SIS # AR @I HIers

(D) SWRIFT T4

(A) SOR BT drhd g
(B) TR &I IS ST
(C) (A) 3R (B) I
(D) SRRH H A BIg -8

qrIdg g91d H ACY AT 3N (concrete) TG
IR B ufhar & e wU # S ST @
(A) TIETT (B) ST

(C) wrifeT (D) grifacT
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49. To threat voids in masonry the holes are drilled at
anangle of :
(A) 90° (B) 110°
(C) 60° (D) 45°
50. The formwork from the underside of slabs, can be
removed only after :
(A) 1 day (B) 3 days
(C) 7 days (D) 14 days
51. Floors that are cast directly on top of a sub-base is
called:
(A) Concrete floors
(B) Suspended floors
(C) Ground floors
(D) Mezzanine floors
52. Thenominal thickness of one brick wall inmm s :
(A) 90mm (B) 150 mm
(C) 190 mm (D) 200 mm
53. Inenglish bond stretcher overlaps up to a certain
length over the header course is about :
(A) 10% B) 25%
(C) 50% (D) 75%
54. Depth of lean concrete bed placed at the bottom of
awall footing is kept :
(A) 10 cm
(B) 15cm
(C) Equal to its projection beyond wall base
(D) Less than its projection beyond wall base
55. Suitable spacing of timber piles is :
(A) 50 cm (B) 60 cm
(C) 70 cm (D) 80 cm
56. Pile foundations are suitable for :
(A) Water logged soils
(B) Soft rocks
(C) Compact soils
(D) Multistoreyed buildings
MASON-03

10

49.

50.

51.

52.

53.

54.

55.

56.

fefaar fome & 9 & BT W drilled B
BT P B
(A) 90°
(C) 60°

(B) 110°
(D) 45°

g & A 9 formwork &1 fhas feT 4
T ST ©:
(A) 1 &
(C) 7 feAi

B) 3 fa=t
(D) 14 fe=t

A ST WY U SU R @ I W g
ST § DI a7 $Hal ol &

(A) BbIc BT g7 B3

(B) fretfaa #foter

(C) Y—cTet HfTel

(D) Mezzanine HiSTel

TH T &1 QIR B AR W = Arerg gt
27

(A) 90mm (B) 150 mm

(C) 190 mm (D) 200 mm
fieTer 9fe # WaR &1 o7 g Jed WX
for=T BT =fey -

(A) 10% (B) 25%

(C) 50% (D) 75%

WM Heblc Bl TERTg b QIaR -1d & g I
I Sl &

(A) 10 cm

(B) 15cm

(C) TR 9 | TR—3MU YU & axTaR

(D) SR §9 @& 3199 YeIIT | HH

LIS
e -
(A) 50 cm
(C) 70 cm

qISel &I SUYAd g fhal BIgT

(B) 60 cm
(D) 80 cm

qIsdl A1 SUYA & :
(A) I drs el
(B) INH X

(C) diviae fAedT
(D) gg—Hvfell FHRA
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57.

38.

59.

60.

61.

62.

63.

64.

65.

For the construction of flyovers in sandy soil, the
type of foundation provided s :

(A) Strap footing (B) Roft footing

(C) Combined footing (D) Pier footing

In horizontal D.P.C. thickness of cement concrete

(1:2:4)1s:
(A) 2cm (B) 4cm
(C) 6m (D) 8cm

The inner section of cavity wall, is generally
known as :
(A) Buttress
(C) Pilaster

(B) Leftwall
(D) Pillar

A temparary rigid structure having platforms to
enable masons to work at different stages of
building is known as :
(A) Scaffolding

(C) Raking store

(B) Dead store
(D) Under pinning

The dimensions of a half queen closer is :
(A)9cmx9cmx 9cm
B)9ecmx9cmx4.5cm
(C)9cmx4.5cmx9cm
(D)1.8cmx4.5cmx9cm

The piece of a brick cut with its one corner
equivalent to halfthe length and half the width of a
full brick is known as :
(A) Queen Closer

(C) King Closer

(B) Bevelled closer
(D) Halfking closer

Exposed portions of vertical surface at right angles
to the door or window frame, are known as :

(A) Jambs (B) Lintels

(C) Reveals (D) Sofftits

The header bond is generally used for :
(A) Halfbrick wall (B) Simple brick wall
(C) 1’2 brick wall (D) Arches

The stretcher bond is generally used for :
(A) Halfbrick wall (B) Simple brick wall
(C) 1’2 brick wall (D) Arches

MASON-03

57.

38.

59.

60.

61.

62.

63.

64.

65.

el 8 § wolrgsiark & fRHior & for <iiq

fra gpR ueE fear ST =
(A) USTT 3R (B) ¥9T AR
(C)¥ga MR (D) 9IS 3R

e dpic (1:2:4) H &fder D.P.C. 3T HIers
fpar grf?

(A) 2cm (B) 4cm

(C) 6m (D) 8cm

T BT fAaR &1 AR T B AMAR TR AT
HBT ST &

(A) FeH (B) 9TE <IaR

(C) TelRex (D) =

T 3RS HOR T IR FeAT IS i
RO H BTH BRI & DI RT Had o

(A) 7T (B) 7 feR

(C) 9eR R (D) 3fsx fa=f=T

3mfT queen closer ¢ &I TATH TAT &:
(A)9cmx 9 cmx 9cm
B)9ecmx9cmx4.5cm
(C)9cmx4.5cmx9cm
(D)1.8cmx4.5cmx9cm

& §C P 98 bl ol oIl g dlsls & AL
®I e arel I Bl Bled & 91 YT &Il @
T HEd T ¢

(A) T FeATorR
(C) T FeliorR

(B) fadiere FioR
(D) 3fl fH T TR

AT AT RISdl & BH | FHADI R G
JAE B TD H YT & ®©9 H ST Sl
(A) T= (B) Rad

(C) Raet (D) Bd

TSR 99 MR fohd & forg v fam Sire &:
(A) I ¢ @ SR (B) ARIRYT §¢ &I S1aR
(C) 1% 3¢ & TR (D) Hevd

TR U9 MH—dR b 3¢ & AR & forw
TN fhar ST 2

(A) mfT g @ EOR (B) ARV §¢ &1 AR
(C) 1% ¥ & R (D) HeNd
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66.

67.

68.

69.

70.

The brick at exterior angle between outer faces of
awall is known as :
(A) Tum

(C) Quion

(B) Junction
(D) All the above

The stone masonry of finely dressed stones laid in
cement or lime is :

(A) Random Rubble masonry

(B) Coursed Rubble masonry

(C) Dry Rubble masonry

(D) Ashlar masonry

A wall constructed to resist the pressure of an earth
filling is called :
(A) Retaining wall
(C) Buttress

(B) Breast wall
(D) Parapet wall

The under surface of an arch is called :
(A) Soffit (B) Intrados
(C) Hannch (D) Back

An arch constructed with finely dressed stones is
known as :

(A) Ashlararch (B) Rubber arch
(C) Gauged arch (D) Axied arch
71. Theangle between skew back of a flat arch and the
horizontal is kept approximately equal to :
(A) 0° (B) 30°
(C) 60° (D) 90°
72. Arches in the form of masonry arch struck from
more than four centres are called :
(A) Two curved arches (B) Gothic arches
(C) Ogee arches (D) Drop gothic arches
73. The stone blocks approximately triangular in shape
used as steps are known :
(A) Stone steps (B) Builtup steps
(C) Spandril steps (D) None of these
74. The members which support covering material of
asloping roof are:
(A) Rafters (B) Purlins
(C) Battens (D) Struts
75. The member which is placed horizontally to
support common rafter of a sloping roof'is :
(A) Purlin (B) Cleat
(C) Batten (D) Strut
MASON-03

66.

67.

68.

69.

70.

71.

72.

73.

74.

75.

UH GHaR & I8 dex & 41 diEs) I W)
o T BT fha w9 # S ST &

(A) e (B) =TT

(C) I (D) SR T

IR TRl BT TRl 3 oM 8 ava dhie 3R
AT BT oRIR DI HEA &

(A) XvsH wad oA

(B) 5% R 3¢ TS

(C) T 3TTg g

(D) g% formre

e & <9/ B AE dTell SR R®T Bl
AE\r.

(A) TR §91Y IGAT (B) S QAR

(C) g2 (D) §se &1 TR

T HERId Bl &Y D] TAT Pl e &7

(A) Bd (B) TSI

(C) St (D) dre

U HERTd Bf AT & v TR 9ol &7 dgd
8

(A) PR HETq (B) Field TR FT HEVTq
(ORISEEEE] (D) TaFS HeWTd

U Tolc U & faRoT a9 IR afdd & 9 &
PIOT B I aRTER T ST ©:

A)0° (B) 30°

(C) 60° (D) 90°

IR A AH D=l F Fgh (TR E & w4 H

HENd PHal ol &

(A) T d% Hevd (B) e #evd

(C) fg=m #eRre (D) SfT Mfers Hevrg
@R &ATd (shape) # o T i == &
w7 F ST PR B B

(A) TR ® TRUT (B) AT =RoT

(C) W=l =RUT (D) §79 ¥ BIg 8!

T S T B DI AFUT DI HaR B Bl
A R W T
(B) ufeie

(A) TR
(C) de (D) ¥

Tl B @ DA US Bl FUIE A arell
SIS 3rqua I BT &

(A) TrEdR (B) faete

(C) 9e (D) 3ibs
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76.

77.

78.

The size of a floor tile commonly used is :
(A)15cmx 15cmx 1.8 cm

(B) 20cmx20cmx 2 cm
(C)22.5cmx22.5cmx2.2cm

(D) All the above

In jack arch floor the rise is kept :
(A) 1/6™ of span
(B) 1/8™ of the span

)1 %Oth of span
(D) 1/12™ of the span

The type of pointing in which upper side of mortar
joints is kept about 12 mm inside the face of the
masonry and bottom is kept flushed with face of
wallis:

(A) Truck pointing

(B) Recessed pointing

(C) Struck pointing

(D) Ground pointing
79. The skirting/ dedo in bath room should be up to :
(A) Ceiling
(B) 15 cmabove floor level
(C) 200 cm
(D) Level of the top
80. Expansion joints in masonry walls are provided if
length exceeds :
(A) 10 m (B) 20 m
(C)30m (D) 40 m
81. For plastering the exposed brick walls, the
cement sand mortar should be :
(A)1:2 B)1:3
©)1:4 D)1:6
82. Forbrick construction the lime sand mortaris :
A)1:1 B)1:2
O1:3 D)1:4
&3. The form work from the sides of beams can be
removed only after :
(A) 1 day (B) 4 days
(C) 7 days (D) 14 days
MASON-03

76.

77.

78.

79.

80.

81.

82.

83.

qoioll TTSel BT AR UR fhd PR H ST
o ST

(A)15cmx 15cmx 1.8 cm

(B) 20cmx20cmx 2 cm
(C)22.5cmx22.5cmx2.2cm

(D) SIRIh T

S WExTd ATl H SIAr W@ ST ©
(A) IR &7 1/6™ 917
(B) IR &7 1/8" 417

(C) TR &1 l%ozh AT
(D) TR &1 1/12% 91T

AU & YR & FOrgd Ay oSl & IR 3R
forTg 3R - &7 AT R & IR H 3f<X 12
mm T € wall ® AR & A1 AT T ST
g

(A)T®H <Y

(B) BT ST grefeT

(C) ARAT (PTe o) drefe

(D) f#r arefe

q1ered H skirting / SSI B AT AMRY
(A) 31f&HaH AT (Ceiling)

(B) Fiollel R ¥ 15 cm %0

(C) 200 cm

(D) Y BT R

g 1 S W AR B s
IR A BT AT

(A) 10m (B) 20 m

(C)30m (D)40m

ISR $€ B TART WS RS & 37U
BT A1fRT :
(A)1:2
(C)1:4

B)1:3
D)1:6

(A)1:1 B)1:2
O©1:3 D)1:4

99 & Uell ¥ B B 9 & 915 8 ST o
AHhdT ©:

A1 &= (B) 4 fa=i

(C) 7 f&Ai (D) 14 f&=i
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84.

85.

86.

87.

88.

89.

90.

91.

The form work from the slabs excluding props,
can be removed from beams only after :

(A) 3 days (B) 7 days

(C) 14 days (D) 21 days

Which tool is used for cutting soft bricks and
dressing cut surfaces :
(A) Trowel

(C) Spritlevel

(B) Scutch
(D) Brick axe

Hoff man’s kiln is used for :
(A) Bumning of lime

(B) Burning of brick

(C) Burning of cement

(D) Burning of wood

If rain water falls on hot brick then the shape of the
brick gets deformed, the defect being known as :
(A) Bloating (B) Nodules

(C) Chufts (D) Efflorescence

Which one of the following tools is generally not
used in blasting and stone work?

(A) Mallet (B) Trovel

(C) Chisel (D) Sledge Hammer

Efflorescence of bricks is caused by :

(A) The high PH content of water is used during
pugging

(B) The low PH content of water is used during
pugging

(C) The presence of alkaline salts

(D) Low silica content of the bricks

The joints in the pointing should be raked out to
which depth :
(A) 10mm
(C) 15mm

(B) 12mm
(D) 18 mm

For 12 mm thick 1 : 6 cement sand plaster for
100 m? on new brickwork the quantity of cement
and sand required is :

(A) 0.3 m’and 1.8 m*

(B) 0.2 m?*and 1.3 m*

(C)0.3m?*and 1.5 m?

(D) 0.6 m* and 2.3 m®
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84.

85.

86.

87.

88.

&9.

90.

91.

9 A form work T fha AT 91g germ
SITT 87

(A)3 & (B) 7 feAi

(C) 14 fa=i (D) 21 f&=i

BHIT—T IUBRYT STl Bl Dled H SEIHT
fopar <rar 87

(A) grael (B) ¥4
(C) Ve craa (D) HeETS!

2% {7 oo &1 gt fe & forg foam
ST &

(A) T ST @ for

(B) 3¢ ST o forg

(C) ¥r¥e SiemH & forg

(D) b STef & fery

TH ¢ TR I97 BT AT IS 3 SABT ATHR
WRI 8 WAl ®, 39 YHR ST~ QY Bl T

PET ST g
(A) gelifes (B) ArsycH
(D) ThARIA

(C) 9uvH

=1 oIk & 9 {5 SfVIR &1 e T 3R
YR @ ®R H YANT T8} fhar Siar?

(A) frefe (B) g

(C) frorat DESSERIS

foa dRoT 9 gei H ThaRN

(Efflorescence) ST BT &

(A) IR & SR STANT H oY Y STl &l
PH S=d BT ¢ |

B) T & SR STANT H A Y STl BT
PH =1 &I 2|

(C) alkaline salts @1 SURIfT & A1g ST & |

(D) Sci # silica @1 #3T &F BT |

qrefeT # Siel @Y S fha- W& el 27
(A) 10mm (B) 12mm
(C) 15mm (D) 18 mm

98 3¢ W 100 m?® foTT 12mm A 1:6
e Y9 wex & folu 3masgs e 3R
T B HET B fhd=il aeghdT srfl?
(A) 0.3 m* 3R 1.8 m?

(B) 0.2 m33iR 1.3 m’

(C) 0.3 m33R 1.5m?

(D) 0.6 m3 3R 2.3 m?
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92.

93.

94.

95.

96.

97.

98.

99.

100.

For 12 mm thick 1:3 cement sand plaster for
100 m? on new brickwork the quantity of cement
required is :
(A) 0.3 m’
(©)0.5m?

(B) 0.45 m’
(D) 0.6 m*

A certain amount required to be deposited (2%) of
the estimated cost by a contracter while submitting
atender is known as :
(A) Tender

(C) Security Money

(B) Contract
(D) Earnest money

Certain percentage over the actual cost of the
construction as his profit is paid, the contract is
known as :

(A) Labour contract

(B) Special contract

(C) Cost plus percentage contract

(D) Lump sum contract

When contractor fails to complete the work the
penalty may be fixed as a certain percentage not
more than :
(A) 10%
(C) 4%

(B) 5%
(D) 2%

The brick work is not measured by income in case
of :

(A) One or more thick brick wall

(B) Brick work in arches

(C) Half brick wall

(D) R Bwork

The density of cement is generally taken as :
(A) 1500 kg/m? (B) 1750 kg/m?
(C) 1250 kg/m? (D) 2000 kg/m?

The weight of cement in one bag is :
(A)45kg (B) 50kg
(C) 60 kg (D) 65kg

For plastering the exposed brick masonry the ratio
of cement mortar is :
(A)1:6
C©)1:8

B) 1:3
D) 1:10

For 10 cubic metre cement concrete (1:1:5: 3)
the quantity of aggregate cement and sand required
are :

(A) 8.40m?, 2.8m* and 4.2 m®

(B) 8.8m?%,2.2m?* and 4.3 m?

(C)4.4m3,2.3m* and 1.5 m?

(D) 9.0m?3, 6.6m* and 3.3 m?
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92.

93.

94.

95.

96.

97.

98.

99.

100.

100 m>® AU 12 mm #1ET 1:3 W d TR
P o U 918 Sc @ folv omavgsd e &
A feadr anfee ?
(A) 0.3 m°

(C) 0.5 m’

(B) 0.45 m’
(D) 0.6 m*

s f¥Ed IR & SR gRT U& fAfdar
AT TFAT B ST (2%) fhar Srar 71 4
ﬁfﬁﬁé@ﬂiﬁraﬁwaﬁﬁ%‘: _

(A) (B) e

(C) By (D) ST Yol

Y A & w/Y H AT B IRfdes dART o
aftres fafya gfoerd wam fear e 2
e fre w0 # ST S @

(A) 5T SHER

(B) fRIy S&eR

(C) dFTd N Ufied SdheR

(D) Th W 3rsel

T4 SHAR M DI TN B H fA%hel &l © |
%S e REd ufderd & w9 # T8 @ o |

s eRa fbar ST Fdhan %\':
(A) 10% (B) 5%
(C) 4% (D) 2%

3¢ ® B YuTTell H 394 3 fHad!] 89 &1 ST
H & AT S0 ©

(A) T a7 3Mf® AT I dT S1aR

(B) Wevd H S BT DY

(C) 3meft g2 @ AR

(D)RBT®

e & O-cd M9 IR TR FET SaT § 7
(A) 1500 kg/m? (B) 1750 kg/m’

(C) 1250 kg/m? (D) 2000 kg/m?

Je & Th 97 BT fhdar IR B8RTT?
(A)45kg (B) 50 kg

(C) 60 kg (D) 65 kg

3¢ @ fors wver & forg Wide |ierg &
3TUTd ®

(A)1:6 B)1:3

©1:8 D)1:10

10 T9 Hiex die ®dpie (1:1:5: 3) Hd AHe
AR YT B AT B fha STIRIBT 27

(A) 8.40m?, 2.8m3 iR 4.2 m’

(B) 8.8m?,2.2m?3iR 4.3 m3

(C) 4.4m3,2.3m* 3R 1.5 m®

(D) 9.0m3, 6.6m? 3R 3.3 m3
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6. There are 16 pages in this Question-Booklet. | 6. 9 Wea—gRT®HT # H{A 16 TS & | IRNGAR DI T
Candidate on receiving his/her Question-Booklet, W—gﬁﬂm e IR IS9P g Ry 2 afe gemedt
should check the pages of the Question-Booklet. If a DI DI SRR M@l Qe yE—gRaDHT e & ar
candidate receives an incomplete or defective  Ques- I8 N B WAEH F U] BN S UReT TN
tion-Booklet, he/she should make a request to the B B 10 e & 3R goodr &g & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. IRNGIR YTA—YRDHT UaH STR—UAD H Bl A1 3T
tion mark anywhere in the Question- Booklet or in A e 3 arar srrar fafdre ug== aran &1 fAema
the Answer-Sheet. Any such mark, if found, will be q THIT | AfS T UPR BT BIs {2 U 737 dl 98
termed as ‘Canvassing’ and paper of such candidate HIRAT AT ST 3R UH IRNGIR BT IR I8a
will be cancelled. PR AT S |

8. Do not detach any leaf from the Question-Booklet. | 8. U —gRa®I # F BIS TS 3T 9 B | TR & ggard
After the Examination, hand over separately the gof ge—gRA®T 3R ITR—UTH SN & Uddedd Bl
entire Question-Booklet and Answer-Sheet to the drer 4
Invigilator.

9. For each question, four alternative answers have | 9. U ysd & iU IR IR [Adoy Ay v & RBFH A
been provided, out of which only one is correct. Bacdt Uh & wE =1 (A), (B), (C), 3k (D) & wax
Darken the appropriate circle in the Answer-Sheet T2 fahed Bl ddol It / Bld dfcd Ulge U BT
by way of using Blue/Black Ball Point Pen, on the BT U STR—UTH H ST el BT 7R < |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@s yed & ITR & ©Y § dad UF & T8l fAdweq
answer. If response is indicated on more than one 2 Igfe b gz & forw U ¥ a1 fahedi U oo
alternatives or the circle has not been darkened SRTTT T7T 2 31eal el dl STIR—UFH § Iy T &I
properly in the Answer-Sheet, as required, it will ¥ et (Dark) <&} frar 721 & A1 S Teld SR AT
be treated as invalid answer and no mark will be G'TQ"TT AR 99 SR B U B i ST FonT |
awarded for that answer.

11. No correction in Answer Column is permissible. | 11. T& qR faU MU IR # S YR & GuR AT LA
Hence candidate should be very sure about correct B AT el 2| gafay IHIQaR gRT el Bl W=+
answer before darkening the appropriate circle. In ¥ Yygel Wel SR gHEa s forar e & gee
case of corrections or double marking of circles P IR H IR B R AT AT Tl Bl AR TR I
against same question, it will be treated as 3T AT STRIATT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, [ 12 wden 9o o deimeey, e SRR, AER B
Cellular Phone and Pager in the Examination Hall is TR AR BT SO T AT TR 3BT YANT BT
prohibited. Iy 2

13. Each question carries one mark. There is no | 13, yx% UST &I Th b & | Told SN P [T BIs 3P
negative marking for any wrong answer. 31 BIel S |

14. If any discrepancy in the Hindi translated version of | 14. af¢ f& w17 & ued & 2= w191 & 1gaQ #§ &8
any question is found, the question given in English Ffe U Sl & o SfFSn W ¥ fear T ue 8
language will be treated as final. JAfH 8T |

SPACE FOR ROUGH WORK
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PART-I GENERALAWARENESS / KNOWLEDGE

Who among the following is present Chief Minister
of Manipur?

(A) Trivendra Singh Rawat

(B) N. Biren Singh

(C) Kiran Jiju

(D) Marry Kom

Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes

(C) Pension (D) Undistributed profits

The °Akaal Takht’ was built by :
(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

. Who was the regent of Akbar in his early days ?

(A) Abul Fazl
(C) Mansingh

(B) Bairam Khan
(D) Todarmal

Vikram Sarabhai Space Centre (VSSC) is located
at:

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun

The Territorial Army was established in :
(A) 1962 (B) 1948
(C) 1920 (D) 1953

MASON-03

1.

F=IfeRad H | A IQR &7 aaq sl B
27

(A) = Rig rad

(B) TH0 R g

(OREIGRNEY
(D) HY B

I g W B T hed & IR
RIS AR & A H freifeliad 7 9 e
O &} Dl SIedl?

(A) fxra B) faf3a ema
(C) Ue (D) 3rfaaRa <9
‘BT’ BT oI fha drrr or?
(A) T AT

(B) % TTIEIGY

(C) T® &¥Mfdg

(D) T d

YRS BTl H haR Pl ﬁwswdu B oT?
(A) 99 B (B) Izl

(C) 9RTE (D) TreHa
faspa ARMTS 3fdRer = Pal Rerd 87
(A) faedage (B) T

(C) TERMETE (D) §7Telo

BT SOk o 39T 3ifqy fhdbe e 89

U ENG—HE WR Wl | Frfailad § & waf

I+ 39T JffeH e {9 Wolr?
(A) Teeelt (B) detdT
(OREREI (D) gri$

IR UIARIEYT BISSIH 1 JEATAT hal
Rera &7

(A) Db
(C) 78 faeeit

(B) ifuifer
(D) <BIgT

NIRRT T BT RATIAT He gl 2f1?
(A) 1962 (B) 1948
(C) 1920 (D) 1953
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9. Bijapuris known for : 9.

10.

11.

12.

13.

14.

15.

(A) Severe drought Area
(B) Gol Gumbaz

(C) Heavyrainfall Area

(D) Statue of Gomateswara

Light from the Sun reaches us in nearly : 10.

(A) 2 minutes
(C) 8 minutes

(B) 4 minutes
(D) 16 Seconds

dIoMYR frga for ST SImar &7
(A) {7 GEIRA &

(B) et <

(C) 31t gfte aretr e

(D) THaeeR &1 ufadr & ford

I BT YBT §F T (ol 3afe H ggear 22
(A) 2 fiFe (B) 4 fiFe
(C) 8 fA1e (D) 16 DTS

PART-1 ELEMENTARY MATHEMATICS

If CANDLE is written as EYPBNC, in certaincode  11.

then in that code FLAMES will be written as ;
(A) DJYKCQ (B) HNCOGU
(C) HICKGQ (D) KCHIUA

Choose the correct option in the place of question  12.

mark (?):
2 4 6
18 [ 2 ] 30
162 | 196 | 150
1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

In a picture on wall Ram showed anold manand  13.

said “his son is my son’s uncle”. How is the old man
related to Ram?
(A) Father

(C) Brother

(B) Grandfather
(D) Uncle

Choose correct option in the place of question  14.

mark (?):

> T 10 ] 40

7 |12 ] 50

14 | 60

(A)3 B)5
©)38 (D) 4
Evaluation of 8 x 82 x 8 is : 15.
(A)1 B)0
©) 8 (D) None of these

MASON-03 4

af&¢ CANDLE &7 f&dT e (drs) # EYPBNC
forRgd € A1 FLAMES &1 391 d¢ H a7 fola?
(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

yefas &I Sfd fAeed | =1 $IH -

2 4 6
18 ? 30
162 | 196 150
1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

IR W o U o B fe@res M 7 aamn
% 59 g€ <fts &1 g3 TR YT &I arar 2 |']H
FT g€ H R | © -

(A) foar (B) wftem

(C) wrg (D) ==

U3 (?) D M R 3T fdwed &1 99+
DI

? 10 40

12 50

14 60
(A)3 B) 5
(C)8 (D)4
8 x 82X 85HT B © :
A) 1 B) 0
(C)8 (D) SWRIh H PIg el
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16. Find the HCF of 54, 288, 360 :

(A) 18 B) 36
(C) 54 (D) 108

17. What will be the LCM of 8, 24, 36 and 54 :
(A) 54 (B) 108
(©) 216 (D) 432

18. Find the simple interest on Rs. 5200 for 2 years at

the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624

19. Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount
after 3 years ?
(A) Rs. 1380
(C)Rs. 1470

(B) Rs. 1290
(D) Rs. 1200

20. Rs. 2100 is lent out at compound interest of 5%
per annum for 2 years. Find out what would be the

amount after two years:
(A) Rs. 2300 (B) Rs. 2315.25
(C)Rs. 2310 (D) Rs. 2320

16. 54,288,360 T He<H AHUAAH ST BISTA?

(A) 18 (B) 36
(C) 54 (D) 108

17. 8,24,36 3R 54 &1 THTH FHIEID ST DITTI?
(A) 54 (B) 108
(C) 216 (D) 432

18. 5200 ®YY B gRIR WR 6 U I b &l

A ST auT BT AR AT a1 8RMT?
(A) 450 ST (B) 524 ®T
(C) 600 U (D) 624 TUY

19. 1200 9 & gaRIFT 5 Uferd AR a1fid
TS BT TR F A9 U7 91 b= 8 SIefY?
(A) 1380 U (B) 1290 ®UY
(C) 1470 ST (D) 1200 ST

20. 2100 BYY BT g=RIRT 5 Yferd &1 arfie ashgfs
o &R ¥ &I a¥ 91¢ fhaeT & SIaril?
(A) 2300 FI (B) 2315.25 0
(C) 2310 T (D) 2320 9

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

Direction : In Q. No. 21 and 22 arelated pair of words is
provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

21. ENQUIRE:ASK::
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

22. FERRY:BOAT::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

Direction : (Q. No. 23-26) Choose the correct altenative
given to replace the Question mark (?) :

23. NUMERAL: UEALRMN::ALGEBRA:?

(A) LRBAGEA (B) ARLAGE
(C) LERAGBA (D) LERABGA
MASON-03

fcer : U 0 21 —22 # vIeal &1 Feferd SireT faar
T 7| 3T T Adet | ¥ 9 s @I g
ST dficd ¥ 3 T Siis 991 e <90idr &

21. ENQUIRE:ASK::
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

22. FERRY:BOAT::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home

fder : ueH wo 23 —26 oA M fawedi § Wl fadey
BT I DI ST Y g &1 W= of 9

23. NUMERAL: UEALRMN : : ALGEBRA: ?
(A) LRBAGEA (B) ARLAGE
(C) LERAGBA (D) LERABGA
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24.

25.

26.

27.

28.

29.

Direction : In which answer figure specified components

30.

BDAC :FHEG: :NPMO:?

(A) RQTS (B) NTRC
(©) TRQS (D) RTQS
FGID: OPQR :: BCDE: ?

(A) KLMJ (B) KLMN
(©) UVM (D) STUM
PNLJ:IGLC ::VTRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
Find odd one out :

(A) Excel (B) Mouse
(C) Desktop (D) Key

Find out from the given option which is different?
(A) Naga (B) Bhil

(C) Garo (D) Brahmin

With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football

(C) Cricket (D) Shooting

of key figure are found ?

Key Figure:

Answer Figure :

MASON-03

24.

25.

26.

27.

28.

29.

30.

BDAC :FHEG: :NPMO:?

(A) RQTS (B) NTRC

(©) TRQS (D) RTQS

FGID: OPQR :: BCDE: ?

(A) KLMJ (B) KLMN

(©) IUVM (D) STUM

PNLJ:IGLC :: VTRP:?

(A) QMKI (B) RSTU

(C) QSRC (D) RPOM

3T Eﬁf SITd P I?ﬂﬁ :

(A) TRl (B) #r3d

(C) STher (D) &I

¥ T fAhedl & IRFTT &1 o9 DI -

(A) ST (B) #ie1

(C) TR (D) sT&IoT

<d7g 991 Bl el b Wel W &7

(A) RSt (B) HedTd

(C) fobebe (D) zffeT
e : B9 A1 IR Ml H TEAT AT & faere

ac faemm 87

HARIT 3T

IR AP
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31.

32.

33.

34.

35.

fderuo 36 9 37

36.

37.

PART-I HINDI

B’ BT T g T8I B
(A) HeBSt (B) W
(C) STt (D) B

B BT A’ 9§ A T -
(A) WETd & HAS  (B) FEl UK a%K]
(C) T o8 %] (D) AT @l &

IR B IR BT A B

(A) 9RF—TaT | &1 g8 wc
(B) G <T

(C) SIaT 4TSI DRI

(D) 37U BHRAT

S ST ¥ 3T § S [oTY U e
PII—T B?
(A) e
(C) IR

S <@ | g o rar ®° @ folg ud o
PIT—T 87
(A) THYD
(C) forueeft

(B) ST
(D) IR

(B) ATATED
(D) IRt

. feafoRaa areat & S o9
# 3 & S fafza sifow:

(A) UPBfT BT Higdad
(B) <1 &1 A
(C) &1 & ol
(D) ®1g e &

(A) Foor Al |
(B) @A ¥

(C) ify fierch &
(D) PIE Ffe =&

MASON-03

38.

39.

40.

W' BT fad| 7 &

(A) g (B) BI3M
(C) g (D) BT
YA BT A o 2

(A) AT 19 (B) TR
(C) ulig (D) =T
‘3’ BT UG Ieg LT B
(A) 3rauq (B) 31T
(C) e (D) wet
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PART-1 ENGLISH

Directions (31 -32) : In each of the following questions,

31.

32.

there are four different words out of which one is
correctly spelt. Find the correctly spelt word :

(A) Saimultaneous
(B) Simultaenous
(C) Simultaneous

(D) Simultanious
(A) Fortuneate (B) Fortuneit
(C) Forchunate (D) Fortunate

Directions (33-34) : In the following questions, some parts

33.

34.

of the sentences have errors and some have none.
Find out which part of a sentence has an error. Ifa
sentence is free from error, then your answer is (D),
1.e. No Error:

(A) She has not completed
(B) her course

(C) Isn’tis

(D) No error

(A) Every citizenis
(B) Entitled to

(C) Thevoting

(D) No error

Directions (35-36) : In each of the following questions,

sentences are given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the correct
alternative as your answer :

35. Sheis......... oflizards :
(A) tearful (B) frightened
(C) afraid (D) terrified
36. Thepriest was innocent ...................... he could not
proveit:
(A) and (B) but
(C) for (D) so
MASON-03

Direction (37-38) : From the given alternatives in each

37.

38.

question, select the word which is opposite in
meaning of the underlined word :

Fluent :

(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive
Reluctant:

(A) Hesitant (B) Reserved
(C) Anxious (D) Willing

Directions (39-40) : In each of the following questions, a

39.

40.

part of the sentence is printed in bold. Below are
given alternatives to the bold part at (A), (B), (C)
which may improve the sentence. Choose the correct
alternative. In case no improvement is needed your
answeris (D):

I brushed my teeth every day at 7 O’clock in

the morning :

(A) I brushes my teeth every day at 7 O’clock in
the morming

(B) Ibrush my teeth every day at 7 O’clock in the
morming

(C) I'brush my tooth every day at 7 O’clock in the
moming

(D) No improvement

Only me I can solve the problem :
(A) Only me can

(B) OnlyIcan

(C) Ican only

(D) No improvement
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41.

42.

43.

44.

45.

46.

47.

48.

49.

PART-II MASON

Floorsthat are cast directly on top of asub-baseis
caled:

(A) Concretefloors

(B) Suspended floors

(C) Groundfloors

(D) Mezzaninefloors

Thenominal thicknessof onebrick wall inmmiis:
(A) 90 mm (B) 150 mm
(C) 190 mm (D) 200 mm

In english bond stretcher overlaps up to a certain
length over the header courseisabout :

(A) 10% (B) 25%

(C) 50% (D) 75%

Depth of lean concrete bed placed at the bottom of
awall footingiskept:

(A)10cm

(B) 15cm

(C) Equal toits projection beyond wall base

(D) Lessthan itsprojection beyond wall base

Suitable spacing of timber pilesis:
(A)50cm (B) 60cm
(C) 70cm (D) 80cm

Pilefoundations aresuitablefor :
(A) Water logged soils

(B) Softrocks

(C) Compact soils

(D) Multistoreyed buildings

For the construction of flyoversin sandy soil, the
type of foundation provided is:

(A) Strapfooting (B) Roftfooting

(C) Combined footing (D) Pierfooting

In horizontal D.P.C. thickness of cement concrete

(1:2:4)is:
(A) 2cm (B) 4cm
(C) 6m (D) 8cm

Theinner section of cavity wall, isgenerally
knownas:

(A) Buttress
(C) Pilaster

(B) Leftwall
(D) Pillar
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41.

42.

43.

44,
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49.

AT ST WY U SU IR b MY W 99 TS
ST € DT T H8T STl 2

(A) Bhlc ®T g7 B3

B) Freifad | Ta

(C) —adl |iSTe

(D) Mezzanine Tl

U 3 B SR P AR TR fbd=l Alerg sl
4

(A) 90 mm
(C) 190 mm

(B) 150 mm
(D) 200 mm

T 9fe § IR BT U 2= e WR fohdl
BT AT :
(A) 10%
(C) 50%

(B) 25%
D) 75%

oM Psblc & TS Udh SlaR 1d & dd W)
RCIRSI RIS

(A) 10 cm

(B) 15cm

(C) TR §9 ¥ IR—3U Y&l & aRI6R

(D) IR §9 & 399 YeIIT | HH

B! Ulgel B IUYFd g3 b= BieT
I?Z :

(A) 50-cm
(C) 70 cm

(B) 60 cm
(D) 80 cm

qIsdl g SUYH ©
(A) U ds fiedt
(B) -IRH TR

(C) piae ey
(D) Sg—HoTell AR

Xcirel g # vetrgenark & foAtor & forg g
fp9 bR Ue fhar Srar &:

(A) USTT MR (B) IST 3MEIR

(C) Hgad MR (D) T IR

e ®die (1:2:4) # afaer D.P.C. &I Aes
fpar grf?

(A) 2cm (B) 4cm

(C) 6m (D) 8cm

U BT fQaR &1 WIdR) WS Bl AHAR W F-1
FHET ST &

(A) 924 (B) 9TE <TaR

(C) TR (D) %

SET-C



50.

51.

52.

53.

54.

55.

56.

57.

58.

A temparary rigid structure having platforms to
enable masons to work at different stages of
building is known as :
(A) Scaffolding

(C) Raking store

(B) Dead store
(D) Under pinning

The dimensions of a half queen closer is :
(A)9cmx9cmx9cm
B)9cmx9cmx4.5cm
(©)9cmx4.5cmx9cm

(D) 1.8cmx4.5cmx 9 cm

The piece of a brick cut with its one corner
equivalent to half the length and halfthe width of a
full brick isknown as :
(A) Queen Closer
(C) King Closer

(B) Bevelled closer
(D) Halfking closer

Exposed portions of vertical surface at right angles
to the door or window frame, are known as :

(A) Jambs (B) Lintels

(C) Reveals (D) Soffits

The header bond is generally used for :
(A) Halfbrick wall (B) Simple brick wall
(C) 14 brick wall (D) Arches

The stretcher bond is generally used for :
(A) Halfbrick wall (B) Simple brick wall
(C) 14 brick wall (D) Arches

The brick at exterior angle between outer faces of
awall is known as :
(A) Tum

(C) Quion

(B) Junction
(D) All the above

The stone masonry of finely dressed stones laid in
cement or lime is :

(A) Random Rubble masonry

(B) Coursed Rubble masonry

(C) Dry Rubble masonry

(D) Ashlar masonry

A wall constructed to resist the pressure of an earth
filling is called :
(A) Retaining wall
(C) Buttress

(B) Breast wall
(D) Parapet wall
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50.

51.

53.

54.

55.

56.

57.

58.

U 3T HOR O IR AT oI fafa=
RO H B B & DI R Bed o

(A) 7T (B) 7 fae

(C) R fHRT (D) 3isx fa=ifeT

M queen closer ST &I AT FIT T
(A)9cmx9cmx9cm
B)9cmx9cmx4.5cm
(©)9cmx4.5cmx9cm

(D) 1.8cmx4.5cmx9cm

. Ud 3¢ Pl 98 Thel Gl AWTs g dlsls & Al

BT el aTel B Bl Bied & 915 UTd 8T &

T P ©
(A) YT el (B) fadiers weiror
(C) fbTT FelloR (D) 3l fbT defior

SRaTolT A1 RIgad & BH A THHI R Gl
A€ & TYD H W7 S ®©9 H ST STl 8
(A) T (B) ®Rgel

(C) Raet (D) Ba

TSR 9 AMMAR fbd @ forg v e S
2

(A) 3l g2 @) AR (B) AERY ¥ 3T AR
(C) 1% 3€ &I AR (D) Hevd

TR g9 JH—dR fha ¢ & IR & fou
TN T SITar &

(A) 3l g2 @) SR (B) AERY ¥ 3T AR
(C) 1% 3¢ o R (D) HexTd

TP TaR B I8 T8 41 98N B R

o 3¢ BT fhd ®u § SH1 S g
(A) e (B) Sfar
(C) DI (D) SWRIad 1

IR YRl &I GeRi & g axa dHe 3R
AT BT IR Bl HEA &

(A)XvsH wHadl g

(B) g3 TR AT foreTS

(C) 3 & TTs fomTg

(D) §Te e

fedl & <T@ B AET drell AR R BT
2
(A) IR §91Y IET (B) ¥ QIR

(C) Feve (D) §e A AR
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59.

60.

61.

62.

63.

64.

65.

66.

67.

The under surface of an arch is called :
(A) Soffit (B) Intrados
(C) Hannch (D) Back

An arch constructed with finely dressed stones is
known as :

(A) Ashlararch
(C) Gauged arch

(B) Rubber arch
(D) Axied arch

The angle between skew back of a flat arch and the
horizontal is kept approximately equal to :

(A) 0° (B) 30°

(C) 60° (D) 90°

Arches in the form of masonry arch struck from more
than four centres are called :

(A) Two curved arches (B) Gothic arches

(C) Ogee arches (D) Drop gothic arches

The stone blocks approximately triangular in shape
used as steps are known :

(A) Stone steps (B) Builtup steps

(C) Spandril steps (D) None of these

The members which support covering material of
asloping roof are:
(A) Rafters
(C) Battens

(B) Purlins
(D) Struts

The member which is placed horizontally to
support common rafter of a sloping roof is :
(A) Purlin (B) Cleat
(C) Batten (D) Strut

The size of a floor tile commonly used is :
(A)15cmx 15cmx 1.8 cm

(B) 20cmx20cmx 2 cm
(C)22.5cmx22.5cmx2.2cm

(D) All the above

In jack arch floor the rise is kept :
(A) 1/6™ of span

(B) 1/8™ of the span

€)1 %O’h of span

(D) 1/12% of the span
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60.

61.

62.
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T HENTd Pl e Pl Adg Bl Hhad 87

(A) B (B) g
(C) i (D) 05

Udh HeNId BT FH0T & foU dIR Ukl &l dhad
2

(A) THR HETd
(ORSEEEE]

TP Telc a9 & foRBT a1u< @ik &afad & 99 &
PO B I aRTER T ST ©:

A) 0° (B) 30°

(C) 60° (D) 90°

IR AP bal I b (O s I & wy

HENd PHal Il &

(A) T d% HeRd (B) e #evd

(C) fg=m #eRre (D) SfT Mfers HexTg
TR &f® (shape) § o Harfm @=oi ©
7 F AT IR B B

(A) TR © TR (B) AT aRoT

(C) W=l =RUT (D) 574 ¥ DIg 8!

(B) Field TR &1 HexTd
(D) UaRTS HERTd

T S BTl B bl AHUT DI HaR BIA BT
AT IR W T
(A) ¥
(C) de

(B) ufetd
(D) ¥

Tle] Bd & HiAF JFeX DI FUC BRI Tl
ST sraaa T gar ©

(A) TTEAR (B) fdrete

(C) de (D) s

ASTell TI8el & JAMMAR WR {4 3MaHR H R
foram ST &

(A)15cmx 15cmx 1.8 cm
(B)20cmx20cmx 2 cm
(C)22.5cmx22.5cmx2.2cm

(D) SIRIh T

uidh HeNld Hi'tflc'i ﬁ SITAT XYT SfIdl %ﬁ
(A) RRER @7 1/6" 9T
(B) AR @7 1/8" wT

(C) foarR &1 l%om qT
(D) [TRIR &1 1/12% 91T
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68.

The type of pointing in which upper side of mortar
joints is kept about 12 mm inside the face of the
masonry and bottom is kept flushed with face of
wallis:

(A) Truck pointing

(B) Recessed pointing

(C) Struck pointing

(D) Ground pointing
69. The skirting/ dedo in bath room should be up to :
(A) Ceiling
(B) 15 cmabove floor level
(C) 200 cm
(D) Level of the top
70. Expansion joints in masonry walls are provided if
length exceeds :
(A) 10m (B) 20 m
(C)30m (D) 40 m
71. For plastering the exposed brick walls, the
cement sand mortar should be :
A)1:2 B)1:3
O©)1:4 D)1:6
72. Forbrick construction the lime sand mortar is :
A)1:1 B)1:2
©)1:3 MD)1:4
73. The form work from the sides of beams can be
removed only after :
(A) 1 day (B) 4 days
(C) 7 days (D) 14 days
74. The form work from the slabs excluding props,
can be removed from beams only after :
(A) 3 days (B) 7 days
(C) 14 days (D) 21 days
75. Which tool is used for cutting soft bricks and
dressing cut surfaces :
(A) Trowel (B) Scutch
(C) Spritlevel (D) Brick axe
76. Hoffman’s kilnisused for :
(A) Burning of lime
(B) Burning of brick
(C) Burning of cement
(D) Burning of wood
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68.

69.

70.

71.

72.

73.

74.

75.

76.

AU & TR g o 71d oisl & $WR 3R
forepTs QR AT BT FHAT R & aR H 3r<x 12
gm?@%wall@%ﬁﬁ$wawﬁﬁww
(A)T®H <Y

(B) BT ST grefeT

(C) ARAT (PbTe o) drefeT

(D) 4 TrefeT

qrered # skirting / SSI B AT AMRY
(A) 31f&dHaH AT (Ceiling)

(B) Hoflel WR ¥ 15 cm WX

(C) 200 cm

(D) Y BT R

AT @1 ARl H Wad IR &1 =8
TR Ifrd BT ATRY ¢

(A) 10 m (B) 20 m

(C)30m (D) 40 m

IR S B TART WHE RS & 37U

BT a1fRT -

(A)1:2 B)1:3

(C)1:4 D)1:6

gﬁa’% 'ﬁquzﬁﬁ’l?w@ﬁ?%ﬁ?ﬂ@ﬂqaéz
(A)1:1 B)1:2

€)1:3 (D) 1:4

9 P vell B B 9N B 91 8l g7 S
FhdT 2

A1 &3 (B) 4 f&Ai

(C) 7 fa=i (D) 14 f&=it

9 I form work I fha AT 91€ germ
ST 87

(A)3 fad B) 7 fe=t

(C) 14 fa=i (D) 21 fa=i

BIF—AT SUBRYT Sl DI Dhled H T
fopar Sirar 27
(A) giael

(C) Biie olad

(B) ¥4
(D) BETS!

Bt HIY e T YT 6 & fory fohar
ST &

(A) T ST & fory

(B) ¢ o™ & forg

(C) ¥r¥e SeH & forg

(D) b STef™ @& fery
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77.

78.

79.

80.

81.

82.

83.

84.

Ifrain water falls on hot brick then the shape of the
brick gets deformed, the defect being known as :
(A) Bloating (B) Nodules

(C) Chufts (D) Efflorescence

Which one of the following tools is generally not
used in blasting and stone work?

(A) Mallet (B) Trovel

(C) Chisel (D) Sledge Hammer

Efflorescence of bricks is caused by :

(A) The high PH content of water is used during
pugging

(B) The low PH content of water is used during
pugging

(C) The presence of alkaline salts

(D) Low silica content of the bricks

The joints in the pointing should be raked out to
which depth :
(A) 10mm
(C) 15mm

(B) 12mm
(D) 18 mm

For 12 mm thick 1 : 6 cement sand plaster for
100 m? on new brickwork the quantity of cement
and sand required is :

(A)0.3m?and 1.8 m*

(B) 0.2m?and 1.3 m?

(©)0.3m?and 1.5 m?

(D) 0.6 m*and 2.3 m*

For 12 mm thick 1:3 cement sand plaster for
100 m? on new brickwork the quantity of cement
required is :
(A) 0.3 m?
(©)0.5m?

(B) 0.45 m’
(D) 0.6 m?

A certain amount required to be deposited (2%) of
the estimated cost by a contracter while submitting
atender is known as :
(A) Tender

(C) Security Money

(B) Contract
(D) Earnest money

Certain percentage over the actual cost of the
construction as his profit is paid, the contract is
known as :

(A) Labour contract

(B) Special contract

(C) Cost plus percentage contract

(D) Lump sum contract
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78.

79.

80.

81.

82.

83.

84.

. TH ¢ R YT BT U TS W SIPT FHR

WRTY 8 OIdl 8, 39 YbR S~ Q¥ Bl T

BRI STl g
(A) delifes (B) ArsgeH
(C) TTha (D) TR

=1 ok & 9 f ook &1 e @ik
JeR & B H YT A8l fhar Sar?

(A) fefe (B) g

(C) farorat (D) ¥l BT

frg RO & gef § ThdRRN

(Efflorescence) ST BT &

(A) T & SR SR H &Y 7Y ST BT
PH S &IdT ¢ |

B) T & SR SYART H AN Y ST BT
PH ¥ &1 2|

(C) alkaline salts @1 SUReIfT | A1g ST 2 |

(D) 3¢l H silica @ ATAT &H 8T |

qrefeT # Siel @ S fha- W el 27
(A) 10mm (B) 12mm
(C) I5mm (D) 18 mm

9% 3¢ W 100 m* D U 12mm AT 1: 6
e Y9 wiex & fov srasye WiHe 3R Yd
P AT BT fHa- MaeIdHdr sRT?

(A) 0.3 m* 3R 1.8 m?

(B) 0.2 m* 3R 1.3 m?

(C) 0.3 m33iR 1.5m?

(D) 0.6 m* 3R 2.3 m’

100 m*® foIU 12 mm 71T 1:3 W T ©ReX
B folu T % Sc & foIU IMawgs diic &
A foba =nfay ?
(A) 0.3 m’3

(C) 0.5 m?

(B) 0.45 m’
(D) 0.6 m’

U fAf¥ad Jf3 U Sher gRT Ush fAfaer
AT TFAT B ST (2%) fhar Srar 7 1 g4
ffaa ¥ &1 w1 B &

(A) SX (B) 33T

(C) BTyt (D) 9T it

U Y b WU H FHEOT BT aradfdd o |
arftres fafya uftrera wam= fsar Srar 2
e fre w0 # ST ST @

(A) 5T SHER
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85.

86.

87.

88.

89.

90.

91.

92.

93.

When contractor fails to complete the work the
penalty may be fixed as a certain percentage not
more than :
(A) 10%
(C) 4%

(B) 5%
(D) 2%

The brick work is not measured by income in case
of:

(A) One or more thick brick wall

(B) Brick work in arches

(C) Half brick wall

(D) R Bwork

The density of cement is generally taken as :
(A) 1500 kg/m? (B) 1750 kg/m?
(C) 1250 kg/m? (D) 2000 kg/m?

The weight of cement in one bag is :
(A)45kg (B) 50kg
(C) 60 kg (D) 65 kg

For plastering the exposed brick masonry the ratio
of cement mortar is :
(A)l1:6
C©)1:8

B)1:3
(D) 1:10

For 10 cubic metre cement concrete (1:1:5: 3)
the quantity of aggregate cement and sand required
are :

(A) 8.40m?, 2.8m* and 4.2 m®

(B) 8.8m*,2.2m3 and 4.3 m?

(C)4.4m3, 2.3m* and 1.5 m?

(D) 9.0m?3, 6.6m* and 3.3 m?

The unit of weight of C.C. in KN/m®is :
(A) 12 B) 18
(C) 25 (D) 24

Depth of foundations is designed on the basis of :
(A) Rankine’stheory (B) Dorcey’s theory
(C) Khosla theory (D) Lacey’s theory

In an arch, the resisting forces are developed by :
(A) Vertical reaction at supports

(B) Providing hinged support

(C) Horizontal thrust at supports

(D) All the above

MASON-03

85.

86.

87.

88.
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90.
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T4 SHER HTH BT R B 7 A%l Y& 2 |
<3 U g ufoera & w9 # 981 &) gor #

e eRa fbar ST Fdhan %\’:
(A) 10% (B) 5%
(C) 4% (D) 2%

SC B BRI YUTTell 3§ 59 | [Hae! 99 BT sTg
H & AT S ©

(A) U a7 31fd% AT §2 @) d1ar

(B) Wevd H 3 BT DY

(C) 3meft g @ far

(D) RBd®

e & O-cd M9 IR R HET AT § 7
(A) 1500 kg/m? (B) 1750 kg/m?
(C) 1250 kg/m? (D) 2000 kg/m?

A b Th 97 BT fhaaT IR BHTT?

(A)45kg (B) 50 kg

(C) 60 kg (D) 65 kg

e ol oM wiRex & forv e AT &t
U B

(A)1:6 B)1:3

(C)1:8 D) 1:10

10 &9 HieR HRiE depie (1:1:5: 3) |t AR
R T BT AT B fba-l ATIHAT B?

(A) 8.40m’, 2.8m3 3R 4.2 m?

(B) 8.8m?,2.2m? 3R 4.3 m’

(C) 4.4m3,2.3m* 3R 1.5 m3

(D) 9.0m3, 6.6m? 3R 3.3 m3

C.C. BT $PTs YR KN/m’2:
(A) 12 (B) 18
(C) 25 (D) 24

T B TERTS P MR R 99T AT &
(A)fpa @1 Rigid  (B) ST Rigid
(C) @rTer figid (D) ol Ragid

TS od # faRwe 9o fhdd gRT fawfid 81 &
(A) TS gfafshar &1 Hf= HRar

(B) EicTs WAl Y&

(C) &fST SR &7 AR HRarl ©

(D) SWRIFT T4
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94.

95.

96.

97.

98.

99.

100.

A junction at which two walls meet at an angle
other than 90° is called :

(A) Oblique junction

(B) Squint junction

(C) Irregular junction

(D) Obtuse junction

The red colour of brick is due to the presence on
brick earth :
(A) Clay

(C) Iron Oxide

(B) Sand
(D) Magnesia

The strength of brick masonry in compression will
depend on :

(A) Strength of brick unit

(B) Strength of mortar used

(C) Thickness of mortar in the joints

(D) All the above parameter

In brick masonry walls the vertical joints are

staggered to :

(A) Increase strength of the wall

(B) Home load distribution along the length of the
wall

(C) Both (A) and (B)

(D) None of the above

The process of applying mortar or concrete under
pneumatic pressure is known as :

(A) Gunnting (B) Cementing

(C) Firing (D) Injecting

To threat voids in masonry the holes are drilled at
anangleof’:
(A) 90°
(C) 60°

(B) 110°
(D) 45°

The formwork from the underside of slabs, can be
removed only after :
(A) 1 day

(C) 7 days

(B) 3 days
(D) 14 days
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TP ST & Sl &1 SIaRT dl fiel™ TR Th BHIoT
ST 90° & AT A §d HEAT &

(A) TIeT SR

(B) Thide STaeE

(OKEIERIESERSELE]

(D) Ffea Siaer

2
(A) faed (B) X
(C) 3MRRA 3MaNfge (D) ATferT

B AT [T DI gl IR SURAT BT HIROT

Tires adId # s e @ dred ) ik
HRT &

(A) 3¢ SHIE DI ATHA

(B) HIEX &1 AT BT SWIHATS [Hdl

(C) Sire ¥ =R & Hrers

(D) SWRIFT T4

(A) TR DI ATHT 9™
(B) TR Bl s (SaIegz
(C) (A) 3R (B) <
(D) SIRRH H F BIg 78

qIIdT T919 H AR AT 319 (concrete) 3G

B BT UfhaT BT b w9 H ST ST B

(A) T (B) SfrsT

(C) BrifRT (D) g=ifere

fefamadl foerg 5 BT & BT R drilled &=
BT P T -

(A) 90° (B) 110°

(C) 60° (D) 45°

100. w9 & -9 9 formwork @I fhad fa=1 drg

I STl &
A1 &3 (B) 3 f&Ai
(C) 7 fa=t (D) 14 fa=i
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tion-Booklet, he/she should make a request to the B B 10 e & 3rex goodr g & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. IRfGaR YTA—YRDHT UaH STR—UAH H el A1 3T
tion mark anywhere in the Question- Booklet or in A e 3 grar srrar fafdre ug== aran &1 fAema
the Answer-Sheet. Any such mark, if found, will be q ST | AT T UhR BT PHIs {2 U 737 dl 98
termed as ‘Canvassing’ and paper of such candidate HIRAT AT ST 3R VA IRNGIR BT IR I8a
will be cancelled. PR AT S |

8. Do not detach any leaf from the Question-Booklet. | 8. Uz —gRT®T # & BIS TS 3T 9 B | TRIEAT & ggard
After the Examination, hand over separately the gof ge—gRA®T 3R ITR—UTH SN & UIdedd Bl
entire Question-Booklet and Answer-Sheet to the drer <
Invigilator.

9. For each question, four alternative answers have | 9. U Usd & U IR IR fAdoy Ay v & RBFH A
been provided, out of which only one is correct. Badt Uh & w21 =1 (A), (B), (C), 3k (D) & wax
Darken the appropriate circle in the Answer-Sheet T2 fahed B ddcd It / Blcl dicd Ulge U BT
by way of using Blue/Black Ball Point Pen, on the BT Y STR—UFH H ST el BT 7R < |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@ yed & IR & ®Y § dad UF & T8l Adwed
answer. If response is indicated on more than one 2 Igfe b g3 & forw ue ¥ &1 fahedi U forem=
alternatives or the circle has not been darkened SRTTT T7T 2 31al el bl STIR—UFH § Iy T &I
properly in the Answer-Sheet, as required, it will ¥ et (Dark) =&} frar 721 & A1 S Teld SR AT
be treated as invalid answer and no mark will be G'TQ"TT AR 99 SR B U I i ST FonT |
awarded for that answer.

11. No correction in Answer Column is permissible. | 11. T qR faU MU IR # S YR & GuR AT e
Hence candidate should be very sure about correct B AT 8l 2| gafay SHIQaR gRT el &l W=+
answer before darkening the appropriate circle. In ¥ Yygel Wel SR gHEa s forar Se | & ge
case of corrections or double marking of circles P IR H IR B IR AT AT Tl Bl AR TR I
against same question, it will be treated as 3T AT STRIATT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, [ 12 wden 9o & deigmeey, e SRR, AqER B
Cellular Phone and Pager in the Examination Hall is T AR BT SO T AT TR 3BT YANT BT
prohibited. Iy 2

13. Each question carries one mark. There is no | 13, yx% UST &I Th b & | Told SN P [T BIs 3ib
negative marking for any wrong answer. 31 BIel ST |

14. If any discrepancy in the Hindi translated version of | 14. af¢ f& w17 & ued & 2= w191 & 1gaQ # &8
any question is found, the question given in English Ffe U Sl & o SfFSn W ¥ fear T ue g
language will be treated as final. JfH 8T |
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PART-I GENERALAWARENESS / KNOWLEDGE

The °Akaal Takht’ was built by :
(A) Guru Ramdas

(B) Guru Teg Bahadur

(C) Guru Hargobind

(D) Guru Nanak

. Who was the regent of Akbar in his early days ?

(A) Abul Fazl
(C) Mansingh

(B) Bairam Khan
(D) Todarmal

Vikram Sarabhai Space Centre (VSSC) is located
at:

(A) Thiruvanthapuram (B) Mumbai

(C) Hyderabad (D) Bengaluru

Farookh Engineer played his last Cricket Test match
at his home ground. Where did he play his last Test
match among the following?

(A) Delhi (B) Calcutta

(C) Hyderabad (D) Mumbai

The headquarter of the Indian Mountaineering
Foundation is located at :
(A) Kolkata (B) Darjeeling
(C) New Delhi (D) Dehradun

The Territorial Army was established in :
(A) 1962 (B) 1948
(C) 1920 (D) 1953

Bijapur is known for :
(A) Severe drought Area
(B) Gol Gumbaz
(C) Heavyrainfall Area
(D) Statue of Gomateswara

Light from the Sun reaches us in nearly :
(A) 2 minutes (B) 4 minutes
(C) 8 minutes (D) 16 Seconds

MASON-03

1.

‘JThTAdRa’ BT f=rafor fhaa wxrar oar?

(A) TS XHaTH

(B) % TTEIGN

(C) T& &lfde

(D) T® D

YRS BTl § IHaR BT RIUSHATAR DI 21?7
(A) 3Tgel Hufel (B) SRl

(C) 9RTE (D) CIEIAd

faspa ARMTS SfaRer = Pal Rerd 87

(A) ferodagsa (B) g

(C) TRMETR (D) §TeT®

BT SOk o 3791 3ifqy fhdbe o 89
U BNG—HET WR Wel | fr=aferiad § & waf

IBI= 39T JffH e {9 Wolr?
(A) et (B) deTdh<l
(QRLEREI (D) g=g

IR UAARIBY HISSeE &I & Hal

Rera 87

(A) DADT (B) arfSifer

(C) 77 feeed (D) &G
SITIRIS 3 BT RTUAT Hd AT 17
(A) 1962 (B) 1948

(C) 1920 (D) 1953

TR fae ford ST SITar &7
(A) YT GERRAT &=

(B) et TS

(C) 31far gfte arer e

(D) TR &1 Tfead T @& ford

I BT UHT &H db fbai srafd § ugear 27?

(A) 2 e B) 4 A9
(C) 8 fAse (D) 16 DTS
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9.

10.

frferRed § | A-gR &7 aaae g9l I
g7

(A) B Rig rad

(B) TH0 A Riw

(ORE2SANES

(D) ¥ B

s RiEerd W 5 T e & AR
RIS 1Y & 1A H freforiRaa | | feaat
IAUET ol DI SIC?
(A) fa=mr

(C) deH

(B) T3 ama
(D) rfdaRa a9

PART-I ELEMENTARY MATHEMATICS

9. Who among the following is present Chief Minister
of Manipur?
(A) Trivendra Singh Rawat
(B) N. Biren Singh
(C) Kiran Jiju
(D) Marry Kom
10. Which one of the following is not included while
estimating National Income through income method?
(A) Rent (B) Mixed incomes
(C) Pension (D) Undistributed profits
11. Inapicture on wall Ram showed an old man and
said “his son is my son’s uncle”. How is the old man
related to Ram?
(A) Father (B) Grandfather
(C) Brother (D) Uncle
12. Choose correct option in the place of question
mark (?):
? 10 40
7 12 50
9 | 14 | 60
(A)3 B) 5
©)8 (D) 4
13. Evaluationof 8 x 8*x 87 1is:
A1 B)0
©)8 (D) None of these
14. Find the HCF of 54,288,360 :
(A) 18 (B) 36
(C) 54 (D) 108
15. What will be the LCM of 8, 24, 36 and 54 :
(A) 54 (B) 108
(©) 216 (D) 432
16. Find the simple interest on Rs. 5200 for 2 years at
the rate of 6% per annum :
(A) Rs. 450 (B) Rs. 524
(C) Rs. 600 (D) Rs. 624
MASON-03

11.

12.

13.

14.

15.

16.

IR W I U o 7 feares M = garan
% 59 9g =R &1 g3 W GF &7 9rar 2 ']
® J§ W T |aY T

(A) fuar (B) uftar

(C) T8 (D) =ren

g3 (?) D M R 3fud fdwey &1 a9+

DI -

? 10 40

12 50

14 60
(A)3 B) 5
©) 8 (D) 4

X 8x85H B B :
A) 1
(C) 8

B) 0
(D) SIRRH H PIg A8l

54,288,360 &1 HeTH HIYAAD S HIFTA?

(A) 18 (B) 36
(C) 54 (D) 108

8,24, 36 3R 54 BT TYTH FHAIIID SN DITTI?
(A) 54 (B) 108
(C) 216 (D) 432

5200 ®YI P GERI WR 6 Uferd a1ffie df <
I I 991 BT AR TS fhd=r grm?

(A) 450 ST (B) 524 ®T

(C) 600 BT (D) 624 T
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17.

18.

19.

20.

Direction : (Q. No. 21-24) Choose the correct altenative

Rs. 1200 is lent out at 5% per annum simple interest
for 3 years. Find out what would be the amount
after 3 years ?
(A) Rs. 1380
(C) Rs. 1470

(B) Rs. 1290
(D) Rs. 1200

Rs. 2100 is lent out at compound interest of 5%
per annum for 2 years. Find out what would be the

amount after two years:
(A) Rs. 2300 (B) Rs.2315.25
(C)Rs. 2310 (D) Rs. 2320

If CANDLE is written as EYPBNC, in certain code
then in that code FLAMES will be written as :

(A) DJYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

Choose the correct option in the place of question
mark (?):

2 4 6

18 ? 30
162 | 196 150
1458 | 1372 | 750

(A) 16 (B) 28
(C) 49 (D) 54

given to replace the Question mark (?) :

21. NUMERAL:UEALRMN: ::ALGEBRA:?
(A) LRBAGEA
(B) ARLAGE
(C) LERAGBA
(D) LERABGA
22. BDAC:FHEG::NPMO:?
(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
23. FGID:OPQR::BCDE:?
(A) KLMJ (B) KLMN
(C) IuvM (D) STUM
MASON-03

17.
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20.

1200 U &1 G=RIRT 5 Uferd |eRer arfie
T D &R | A aut 91 fhae 81 SefT?
(A) 1380 T (B) 1290 ®uy
(C) 1470 9 (D) 1200 ®I

2100 Y BT G=RIRT 5 Ufrerd &1 a1 =shgfs
S &) | & 99 qre fha & S

(A) 2300 ST (B) 2315.25 ®UY

(C) 2310 ®T (D) 2320 T

afd CANDLE &! f&l e (@1€) # EYPBNC
forgd 8 A FLAMES &1 S9! §c H 31 foRaTr?
(A) DIYKCQ (B) HNCOGU

(C) HICKGQ (D) KCHJUA

gefag &l Sfd Aeed | =1 I -

2 4 6

18 ? 30

162 | 196 150

1458 | 1372 | 750
(A) 16 (B) 28
(C) 49 (D) 54

PART-1 ANALYTICALAPTITUDE,ABILITY TO OBSERVE AND DISTINGUISH PATTERNS

foder : ued Wo 21 —24 A I fabedi # Wl fAdhey

21.

22.

23.

BT I DI ST Y9 forg &1 = of 9

NUMERAL: UEALRMN :: ALGEBRA: ?

(A) LRBAGEA

(B) ARLAGE

(C) LERAGBA

(D) LERABGA

BDAC :FHEG : : NPMO: ?

(A) RQTS (B) NTRC
(C) TRQS (D) RTQS
FGID : OPQR :: BCDE : ?

(A) KLMJ (B) KLMN
(C) IuvM (D) STUM
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24.

25.

26.

27.

PNLJ:IGLC :: VIRP:?

(A) QMKI (B) RSTU

(C) QSRC (D) RPOM
Find odd one out :

(A) Excel (B) Mouse
(C) Desktop (D) Key

Find out from the given option which is different?
(A) Naga (B) Bhil
(C) Garo (D) Brahmin

With which sport Dibeyendu Barua is asociated?
(A) Chess (B) Football
(C) Cricket (D) Shooting

Direction : In which answer figure specified components

28.

of’key figure are found ?

Key Figure:

Answer Figure :

Direction : In Q. No. 29 and 30 a related pair of words is

29.

30.

provided Select from the alternatives the pair of
words which expresses the best relationship of the
capitalised pair

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT ::
(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home
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24.

25.

26.

27.

28.

PNLJ:IGLC :: VIRP:?

(A) QMKI (B) RSTU
(C) QSRC (D) RPOM
NI Bl ST PO
INRERE (B) Ar3d
(C) S¥her (D) I
I T Apcdt § 1T BT T I -
(A) =TT (B) i1
(C) TRY (D) STEToT
Qg TORAT DI Ay b Wl A 27?
(A) AR (B) BedTel
(C) febape (D) fe
e : B9 A1 SR Hfa H w1 i & faere
aca faemm 87
AR 3MHA
IR 3T

fder : U Fo 29 —30 H IgT BT GefT SireT fear

29.

30.

a7 2 | AU T fadent # A 99 Siis @l g
ST dfted ¥ QT Sils ST Heg ST &

ENQUIRE :ASK : :
(A) Frame : Paint
(C) Engine : Petrol

(B) Paraphrase : Analyse
(D) Denote : Indicate

FERRY : BOAT : :

(A) Gondola: Aircraft (B) Lodge : Sleep
(C) Residence : Man (D) Habital : home
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PART-I HINDI

3. T B W OFT ot 38.

(A) 9h—¥Ta=T | <1 g8 e
(B) T <1

(C) S[ST AIST BRI

(D) 31T T 39.

32. G O ¥ ST ® Sd folv Ud vre
P 87

(A) e (B) STeer 40.

(C) R (D) TRR

33. ST o@q ° O orar © & folv ush vres
P 87
(A) JTHYH (B) FAIEDH
(C) forueeft (D) URalIfdhd

fAder w0 34 & 35 : fa=faRaa arait § O ofer
# Ffe 2 99 fufed ik
34.
(A) UPBfT BT FigAddr
(B) g &1 A
(C) 78l & ofcll
(D) ®1E Ffe Tel

35.
(A) Foor Al |
(B) @A ¥
(C) ify fierch &
D) PIE Ffe &

36. WU Bl fadl¥ v @

(A) °g (B) BT
(C) 33 (D) BT

37. I BT fAdd v 2

(A) A9 (B) 31X
(C) ufig (D) =T

MASON-03 7

‘3’ BT T Ieg TGS B

(A) 3rauq (B) 31T
(C) 34 (D) vef
‘B’ BT JATIATE] g o] ©
(A) T (B) R
(C) STerof (D) BT
BT BT AT’ I a1 B

(A) WETd & HAS  (B) FEl U IR
(C) I 28 a7 (D) THATHT @ &
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PART-1 ENGLISH

Directions (31-32) : In the following questions, some parts ~ Directions (37-38) : In each of the following questions, a

ofthe sentences have errors and some have none. part of the sentence is printed in bold. Below are
Find out which part of a sentence has an error. If a given alternatives to the bold part at (A), (B), (C)
sentence is free from error, then your answer is (D), which may improve the sentence. Choose the correct
i.e. No Error : alternative. In case no improvement is needed your
answer is (D) :

31. (A) She has not completed
(B) her course 37. Ibrushed my teeth every day at 7 O’clock in
(C) Isn’tis the morning :
(D) No error (A) I'brushes my teeth every day at 7 O’clock in

the morning

32. (A) Everycitizenis (B) Ibrush my teeth every day at 7 O’clock in the
(B) Entitled to moming
(C) The voting (C) I'brush my tooth every day at 7 O’clock in the
(D) No error moming

(D) No improvement
Directions (33-34) : In each of the following questions,
sentences are given with blanks to be filledinwith ~ 38.  Only me I can solve the problem :

an appropriate word(s). Four alternatives are (A) Only me can
suggested for each question. Choose the correct (B) OnlyIcan
alternative as your answer : (C) Icanonly

(D) No improvement
33. Sheis......... oflizards :

(A) tearful (B) frightened Directions (39 -40) : In each of the following questions,
(C) afraid (D) terrified there are four different words out of which one is
correctly spelt. Find the correctly spelt word :
34. The priest was innocent ...................... he could not
proveit: 39.
(A) and (B) but (A) Saimultaneous
(C) for (D) so (B) Simultaenous
(C) Simultaneous
Direction (35-36) : From the given alternatives in each (D) Simultanious
question, select the word which is opposite in
meaning of the underlined word : 40.
(A) Fortuneate (B) Fortuneit
35. Fluent: (C) Forchunate (D) Fortunate
(A) Inappropriate (B) Halting
(C) Degrading (D) Insensitive

36. Reluctant:
(A) Hesitant (B) Reserved
(C) Anxious (D) Willing
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41.

42.

43.

44,

45.

46.

47.

48.

49.

PART-II MASON

The dimensions of a half queen closer is :
(A)9cmx9cmx9cm
B)9cmx9cmx4.5cm
(©)9cmx4.5cmx9cm

(D) 1.8cmx4.5cmx 9 cm

The piece of a brick cut with its one corner
equivalent to halfthe length and half the width ofa
full brick isknown as :
(A) Queen Closer

(C) King Closer

(B) Bevelled closer
(D) Halfking closer

Exposed portions of vertical surface at right angles
to the door or window frame, are known as :

(A) Jambs (B) Lintels

(C) Reveals (D) Soffits

The header bond is generally used for :
(A) Halfbrick wall (B) Simple brick wall
(C) 14 brick wall (D) Arches

The stretcher bond is generally used for :
(A) Halfbrick wall (B) Simple brick wall
(C) 1%4 brick wall (D) Arches

The brick at exterior angle between outer faces of
awall isknown as :
(A) Tum

(C) Quion

(B) Junction
(D) All the above

The stone masonry of finely dressed stones laid in
cement or lime is :

(A) Random Rubble masonry

(B) Coursed Rubble masonry

(C) Dry Rubble masonry

(D) Ashlar masonry

A wall constructed to resist the pressure of an earth
filling is called :
(A) Retaining wall
(C) Buttress

(B) Breast wall
(D) Parapet wall

The under surface of an arch is called :
(A) Soffit (B) Intrados
(C) Hannch (D) Back
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43.

44,

45.

46.

47.
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3mfT queen closer ¢ &I TATH TT &:
(A)9cmx 9 cmx 9cm
B)9ecmx9cmx4.5cm
(C)9cmx4.5cmx9cm
(D)1.8cmx4.5cmx9cm

T §C P 98 bl ol Hlg g dlelg & Fed
B e Tl I BT B B 918 I BT 2
T HEd T

(A) T FelloR
(C) T FeliorR

(B) fadiere FiroR
(D) 3fl fo T TR

AT AT Rgsdl & BH F AHGIT R TSl
JAE B THD H YT b ®©9 H ST Sl &
(A) = (B) Rad

(C) Raet (D) Bd

geN d¢9 AR fhd & forw v fhar rdr &:
(A) et g @ aR (B) AERY §¢ @ SR
(C) 1% 3¢ & §aR (D) Hevd

TR U9 IH—R fhd g€ & MR & forw
g fhar ST ©:

(A) mEfT g @ EOR (B) ARV §¢€ &1 SR
(C) 1% ¥ & R (D) HeNd

TP CIIR © 9183 Iex & 419 g8x] BIv TR ol

¢ ol fog wu § ST e 8
(A) e (B) Sfaer
(C) BIf (D) SWRIad F1

IR YRl Bl IeR] & A8 oD AHe iR
AT BT oRIR DI HE &

(A) XvsH wad oA

(B) Y53 R 3¢ fUArE

(C) T &g forTg

(D) qTe g

fAedl & I91T BT W dqrell AR T HEaAT]
%- .

(A) TR §91Y IGAT (B) S QAR

(C) gexd (D) e & AR
T HEIId Bl &% DI FAT Bl e &7
(A) B (B) g1
(C) S (D) e
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50.

51.

52.

53.

54.

55.

56.

57.

58.

An arch constructed with finely dressed stones is
known as :

(A) Ashlararch
(C) Gauged arch

(B) Rubber arch
(D) Axied arch

The angle between skew back of a flat arch and the
horizontal is kept approximately equal to :

(A) 0° (B) 30°

(C) 60° (D) 90°

Arches in the form of masonry arch struck from more
than four centres are called :

(A) Two curved arches (B) Gothic arches

(C) Ogee arches (D) Drop gothic arches

The stone blocks approximately triangular in shape
used as steps are known :

(A) Stone steps (B) Builtup steps

(C) Spandril steps (D) None of these

The members which support covering material of
aslopingroof are:
(A) Rafters
(C) Battens

(B) Purlins
(D) Struts

The member which is placed horizontally to
support common rafter of a sloping roof'is :
(A) Purlin (B) Cleat
(C) Batten (D) Strut

The size of a floor tile commonly used is :
(A)15cmx 15cmx 1.8 cm

(B) 20cmx20cmx2cm
(C)22.5cmx22.5cmx2.2cm

(D) All the above

In jack arch floor the rise is kept :
(A) 1/6™ of span
(B) 1/8™ of the span

() 1 %Oth of span
(D) 1/12%" of the span

The type of pointing in which upper side of mortar
joints is kept about 12 mm inside the face of the
masonry and bottom is kept flushed with face of
wallis:

(A) Truck pointing

(B) Recessed pointing

(C) Struck pointing

(D) Ground pointing
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U HENTd Bl (AT & U IR UeRl ®f dad
2

(A) PR HEE (B) AieTd U@R &I HEvE
(C) TISTS HEwTd (D) VeI WERTd

TP Tolc I19 & fORST a9 IR &fdd & 9 &

D[] $ CTTHIT ¢XTEN XM il %i
(A) 0° (B) 30°
(C) 60° (D) 90°

IR J AP Bl W Igh oA I b w9 H
HERTY HET ST

(A) QT Tsh HERTd (B) TMferh HeTd

(C) fg=ar #exre (D) $TU Merd e
R &A1& (shape) # o T i @Rl &
T H SWHTA PR VT &

(A) TeR & TROT (B) fAToT =ROT

(C) W=exel =RU1 (D) 579 & BDIg 8l

AT ST ETe], B DI AR BT HaR A BT
ST IR ® T

(A) TR (B) ufetd

(C) 9+ (D) ¥<

T B & DA ISR DI FUC B dTell
BT 3rgua T BT ®

(A) AR (B) fdere

(C) 9+ (D) Jtns

ASTCll T3Sl BT JMHAAR TR ¥ MR H SRIATA
forar < =

(A)15cmx 15cmx 1.8 cm

(B) 20cmx20cmx 2 cm
(C)22.5cmx22.5cmx2.2cm

(D) SWRIH 4T

S AETd Jfotel § SIAr @1 ST @
(A) AR &7 1/6™ 91T
(B) faxdR T 1/8™ 4T

(C) R &1 l%om AT
(D) AR &7 1/12% 417

A9 B gHR & POraH AR sl & FWR 3R
ferepTg 3R I BT ATHAT HR & IR H 3f<x 12
%nm?@T%\' wall & dTex & AT TIfdd T ST
(A)T®H <Y

(B) BIFT ST UIsfe

(C) ARAT (BT <) arefeT

(D) 4 arefeT
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59. Theskirting/ dedo in bath room should beup to :
(A) Ceiling
(B) 15 cmabove floor level
(C) 200 cm
(D) Level of the top
60. Expansion joints in masonry walls are provided if
length exceeds :
(A) 10m (B) 20 m
(C)30m (D) 40 m
61. For plastering the exposed brick walls, the
cement sand mortar should be :
(A)1:2 B)1:3
©)1:4 D)1:6
62. Forbrick construction the lime sand mortar s :
A)1:1 B)1:2
©)1:3 D)1:4
63. The form work from the sides of beams can be
removed only after :
(A) 1 day (B) 4 days
(C) 7 days (D) 14 days
64. The form work from the slabs excluding props,
can be removed from beams only after :
(A) 3 days (B) 7 days
(C) 14 days (D) 21 days
65. Which tool is used for cutting soft bricks and
dressing cut surfaces :
(A) Trowel (B) Scutch
(C) Spritlevel (D) Brick axe
66. Hoffman’s kiln is used for :
(A) Burning of lime
(B) Burning of brick
(C) Burning of cement
(D) Burning of wood
67. Ifrain water falls on hot brick then the shape of the
brick gets deformed, the defect being known as :
(A) Bloating (B) Nodules
(C) Chuffs (D) Efflorescence
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59.

60.

61.

62.

63.

64.

65.

66.

67.

qAHH H skirting / ST HI IGAT A1 -
(A) 31f&®HaH AT (Ceiling)

(B) Hoflel WR ¥ 15 cm WX

(C) 200 cm

(D) Y BT R

AT @ ARl H Wad IR &1 a8
IR 3fdd BT ATRY

(A) 10m (B) 20m

(C)30m (D) 40 m

IR $€ Bl SMART WS RS & U
BT =12
(A)1:2
€)1:4

B)1:3
D)1:6

(A)1:1 B)1:2

(C)1:3 D)1:4

99 & Uell ¥ B B 9 B 9IS 8 ST ol
bl

A1 &3 (B) 4 f&Ai

(C) 7 fe=it (D) 14 fa=t

99 I form work BT fhaw fe=1 91 germ
ST 87

(A)3 & (B) 7 f&Ai

(C) 14 fa=i (D) 21 fa=i

BIF—AT STBIIT Scl Dl hled H Sware b
ST 87
(A) giael
(C) BT olad

(B) ¥pd
(D) GeETel

Bt HY de &1 YT 6 & fofy fohar
ST &

(A) T S & ferg

(B) ¢ o™ & forg

(C) ¥r¥e SeH & forg

(D) b STef @ fery

TH $¢ W IuT BT U TS I STPT IHR
WRI 8 WAl ®, 39 YhR ST~ QY Bl T

BB ST 2
(B) Arsg e

(A) FeAIfeT
(C) o7 (D) THARII
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68.

69.

70.

71.

72.

73.

74.

Which one of the following tools is generally not
used in blasting and stone work?

(A) Mallet (B) Trovel

(C) Chisel (D) Sledge Hammer

Efflorescence of bricks is caused by :

(A) The high PH content of water is used during
pugging

(B) The low PH content of water is used during
pugging

(C) The presence of alkaline salts

(D) Low silica content of the bricks

The joints in the pointing should be raked out to
which depth :
(A) I0mm
(C) 15mm

(B) 12mm
(D) 18 mm

For 12 mm thick 1 : 6 cement sand plaster for
100 m? on new brickwork the quantity of cement
and sand required is :

(A)0.3m’and 1.8 m®

(B) 0.2 m? and 1.3 m*

(C)0.3m*and 1.5 m?

(D) 0.6 m* and 2.3 m?

For 12 mm thick 1:3 cement sand plaster for
100 m? on new brickwork the quantity of cement
required is :
(A) 0.3 m?
(©)0.5m’

(B) 0.45 m®
(D) 0.6 m®

A certain amount required to be deposited (2%) of
the estimated cost by a contracter while submitting
atender is known as :
(A) Tender

(C) Security Money

(B) Contract
(D) Earnest money

Certain percentage over the actual cost of the
construction as his profit is paid, the contract is
known as :

(A) Labour contract

(B) Special contract

(C) Cost plus percentage contract

(D) Lump sum contract
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68.

69.

70.

71.

72.

73.

74.

=1 o & 9 fd ook &1 e T QiR
YR @ ®R H YANT Fe) fhar Siar?

(A) Hele (B) g

(C) frorat (D) Tl BT

f SR & Sei § ThdARRN

(Efflorescence) ScI= BT &

(A) T & SR STRT H AU 7Y ST BT
PH S7d &Il % |

B) T & SR STRT H AV Y ST BT
PH = 8rar 2|

(C) alkaline salts T SUReIT | °1g ST 2 |

(D) 3¢l H silica @ ATAT &H 8T |

qrefeT # SIel @Y S fha- W el 27
(A) 10mm (B) 12mm
(C) 15mm (D) 18 mm

98 3¢ W 100 m?*® foTT 12mm A 1:6
e Y9 wex & folv 3masgs e 3R
T B HET B fhd=il aeghdT grfl?
(A) 0.3 m* 3R 1.8 m?

(B) 0.2 m33iR 1.3 m’

(C) 0.3 m33MR 1.5m?

(D) 0.6 m33iR 2.3 m?

100 m*® foIU 12 mm 71T 1:3 W T @R

& foU e A% Sc B forv smavags e &
A= fha= @fRy ?

(A) 0.3 m’ (B) 0.45 m’

(©)0.5m? (D) 0.6 m*

v ARFd IR & SdeR gRT Uah Afdar
AT TFAT B ST (2%) fhar Srar 2 1 g4
faf¥aa ¥ &1 w1 F=d &

(A) TR (B) aTgaeT

(C) Tiyet (D) AT Goit

AU A ® HU H A B IRAAD AT A
aftres fafya ufoera A fear S 2
ey fra ®u # ST ST 2

(A) 57 SHER

(B) faviy S@eR

(C) TRTd I Ufield SharR

(D) T W Ireel
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75.

76.

77.

78.

79.

80.

81.

82.

&3.

When contractor fails to complete the work the
penalty may be fixed as a certain percentage not
more than :
(A) 10%
(C) 4%

(B) 5%
(D) 2%

The brick work is not measured by income in
case of :

(A) One or more thick brick wall

(B) Brick work in arches

(C) Half brick wall

(D) R Bwork

The density of cement is generally taken as :
(A) 1500 kg/m? (B) 1750 kg/m?
(C) 1250 kg/m? (D) 2000 kg/m?

The weight of cement in one bag is :
(A)45kg (B) 50kg
(C) 60 kg (D) 65 kg

For plastering the exposed brick masonry the ratio
of cement mortar is :
(A)l1:6
C©)1:8

B)1:3
MD)1:10

For 10 cubic metre cement concrete (1:1:5: 3)
the quantity of aggregate cement and sand required
are :

(A) 8.40m?, 2.8m* and 4.2 m®

(B) 8.8m?%,2.2m?* and 4.3 m?
(C)4.4m3,2.3m*and 1.5 m?

(D) 9.0m?3, 6.6m* and 3.3 m?

The unit of weight of C.C. in KN/m?is :

(A) 12 B) 18
(C) 25 (D) 24

Depth of foundations is designed on the basis of :
(A) Rankine’stheory  (B) Dorcey’s theory
(C) Khosla theory (D) Lacey’s theory

In an arch, the resisting forces are developed by :
(A) Vertical reaction at supports

(B) Providing hinged support

(C) Horizontal thrust at supports

(D) All the above
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75.

76.

77.

78.

79.

80.

81.

82.

&3.

T4 SHEAR B BN YR R # fAher Igar 2|
%S va fdaa uferd & w9 # 981 a1 gorm

Ffrp feRa fbam ST Fdhan %\':
(A) 10% (B) 5%
(C) 4% (D) 2%

3T B BRI yoTTel! # 3H | fhd! 89 @) ST
# T2 AT 9T §

(A) U a7 31fdF AT §2 @) d1aR

(B) ERTd H ST & Hd

(C) 3t ST @Y EaR

(D) RBd®

e & T-cg M9 IR R AET AT § P
(A) 1500 kg/m’ (B) 1750 kg/m’
(C) 1250 kg/m’ (D) 2000 kg/m’

A b Th S BT fhaaT IR BHTT?

(A)45kg (B) 50kg

(C) 60 kg (D) 65 kg

e A RFTE wivex @ Ry Wife H@ierd w1
U & :

(A)1:6 B)1:3

(©)1:8 (D)1:10

10 B9 e HHE doie (1:1:5: 3) Bl AR
R T BT AT B fba-T AaLIHAT B?

(A) 8.40m?, 2.8m3 3iR 4.2 m’

(B) 8.8m?,2.2m? 3R 4.3 m3

(C) 4.4m3,2.3m* 3R 1.5 m3

(D) 9.0m?, 6.6m> 3R 3.3 m’

C.C. BT $HhTs R KN/m*2:
(A) 12 (B) 18
(C) 25 (D) 24

T B TERTS fF MR R 99T AT &
(A)fpa @1 Rigid  (B) ST Rigid
(C) @ve frgia (D) ot Rigia

U 3T H foRIy 9ol fhas g1 fasid giar &
(A) TS gfafshar &1 FHf= ®Rar &

(B) EiTs WAl gar

(C) &S SR BT |qHefH &l

(D) SWRIFd T4
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84.

85.

86.

87.

88.

89.

90.

91.

A junction at which two walls meet at an angle
other than 90° is called :

(A) Oblique junction

(B) Squint junction

(C) Irregular junction

(D) Obtuse junction

The red colour of brick is due to the presence on
brick earth :
(A) Clay

(C) Iron Oxide

(B) Sand
(D) Magnesia

The strength of brick masonry in compression will
depend on :

(A) Strength of brick unit

(B) Strength of mortar used

(C) Thickness of mortar in the joints

(D) All the above parameter

In brick masonry walls the vertical joints are

staggered to :

(A) Increase strength of the wall

(B) Home load distribution along the length of the
wall

(C) Both (A) and (B)

(D) None of the above

The process of applying mortar or concrete under
pneumatic pressure is known as :

(A) Gunnting (B) Cementing

(C) Firing (D) Injecting

To threat voids in masonry the holes are drilled at
anangleof’:
(A) 90°
(C) 60°

(B) 110°
(D) 45°

The formwork from the underside of slabs, can be
removed only after :
(A) 1 day

(C) 7 days

(B) 3 days
(D) 14 days

Floors that are cast directly on top of a sub-base is
called:

(A) Concrete floors

(B) Suspended floors

(C) Ground floors

(D) Mezzanine floors
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85.

86.

87.
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&9.

90.

91.

UH SR & ST &I QIaRI ! ™ TR TH BT
ST 90° & 3FATaT 3 G PN o

(A) TRIeT e

(B) Whfde SiarE

(C) rfrafad i

(D) Bfed S

i
(A) faedt (B) ~d
(C) 3RRA 3Nigs (D) AT

BT el T b1 gedl TR SURLAT BT BROT

Hdre 9H™Id § Sc oM @ dred R AR
BT B

(A) 3¢ SHIY DI ATHd

(B) AiICR &I TTdhd BT SKIATS {haT

(C) SIS # AR @I HIers

(D) SWRIFT T4

sc e 4 @Sl Sie IR @t a3 @
(A) TR HI dqThd FT

(B) TR &I IS fSFEIRA

(C) (A) SR (B) &I

(D) SR H | BIg &l

qrIdg G919 | AICY AT 3N (concrete) 3MTAEH
IR B Ufhar B e wY H ST ST @

(A) T (B) SirsT

(C) BRI (D) sifaeT

fefoqat fomTe ® ¥ & BT WR drilled HRA
BT PIT T -

(A) 90° (B) 110°

(C) 60° (D) 45°

g & A 9 formwork @1 fhaw feai arg
TSI ST &

A1 &3 (B) 3 f&Ai

(C) 7 fe=it (D) 14 fa=t

AR ST N T Y MR & MY R 9918
ST & BT T Phal Sl 8

(A) Bblc &1 g7 B3

(B) Feifaa wiorer

(C) g—aer AfTer

(D) Mezzanine HfSTel
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92.

The nominal thickness of one brick wall inmmis :
(A) 90 mm (B) 150 mm
(C) 190 mm (D) 200 mm

93. Inenglish bond stretcher overlaps up to a certain
length over the header course is about :
(A) 10% (B) 25%
(C) 50% (D) 75%
94. Depth oflean concrete bed placed at the bottom of
awall footing is kept :
(A) 10 cm
(B) 15cm
(C) Equal to its projection beyond wall base
(D) Less than its projection beyond wall base
95. Suitable spacing of timber piles is :
(A) 50 cm (B) 60 cm
(C) 70 cm (D) 80 cm
96. Pile foundations are suitable for :
(A) Water logged soils
(B) Softrocks
(C) Compact soils
(D) Multistoreyed buildings
97. For the construction of flyovers in sandy soil, the
type of foundation provided is :
(A) Strap footing (B) Roft footing
(C) Combined footing (D) Pier footing
98. Inhorizontal D.P.C. thickness of cement concrete
(1:2:4)1s:
(A) 2cm (B) 4cm
(C) 6m (D) 8cm
99. The inner section of cavity wall, is generally
known as :
(A) Buttress (B) Leftwall
(C) Pilaster (D) Pillar
100. A temparary rigid structure having platforms to
enable masons to work at different stages of
building is known as :
(A) Scaffolding (B) Dead store
(C) Raking store (D) Under pinning
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TF T BT IR BT IMAAR TR fal Arerg gt
27

(A) 90mm
(C) 190 mm

(B) 150 mm
(D) 200 mm

R dfs # AR BT o9 g% e W fohal
BT a1
(A) 10%
(C) 50%

B) 25%
D) 75%

oM Pshlc B TEXTS Udh SldR H1d & dd IR
I I

(A) 10 cm

(B) 15cm

(C) TR §9 | IR—3U Y&l & aRIER

(D) TR §9 @ 319 YeTqo | HH

Ahe! UTsel Bl U I fhe=l B
ElEGE

(A) 50 cm
(C) 70 cm

(B) 60 cm
(D) 80 cm

aTgel Hid U ®
(A) U dvs et
(B) TRH U&R

(C) dfae fied)
(D) ag—oTell g

Xciiell g o gargenaRk & fHior & forw <iia
fra gpR ueE fear ST &

(A) USTT 3R (B) 4T SRR

(C) Fgad IMER IDRCICRICIN

e daie (1:2:4) ¥ &fdel D.P.C. 3 Al
fpas rf?

(A) 2cm (B) 4cm

(C) m (D) 8cm

T T[ET IR @1 Wik TS BT AR TR a7
BHET ST &

INERASS (B) 9T¢ <1aR

(C) TeTRex (D) ¥

U 3T HOR O TR AT Ioifae fafa=
RO H HTH B & DI T HEd &

(A) 7 (B) 7 R

(C) 9eR T (D) 3R foAfTT
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6. There are 16 pages in this Question-Booklet. | 6. 9 Wei—gRT®T # H{A 16 T & | IRNGAR DI T
Candidate on receiving his’/her Question-Booklet, W—gﬁﬂm e IR IS9P g ey 2 afe gemedt
should check the pages of the Question-Booklet. If a DI DS SRR 3fer@T VYO yE—gRADHT e 7 ar
candidate receives an incomplete or defective  Ques- I8 N B WAEH F U] BN S URET TN
tion-Booklet, he/she should make a request to the B B 10 e & 3rex goodr g & |
Room Invigilator to change the same within the first
10 minutes of the start of the Examination.

7. Candidate should not put any peculiar or identifica- | 7. IRfGaR YTA—YRDHT UaH STR—UAH H el A1 3T
tion mark anywhere in the Question- Booklet or in A e 3 grar srrar fafdre ug== aran &1 fAema
the Answer-Sheet. Any such mark, if found, will be q ST | AT T UhR BT PHIs {2 U 737 dl 98
termed as ‘Canvassing’ and paper of such candidate HIRAT AT ST 3R VA IRNGIR BT IR I8a
will be cancelled. PR AT S |

8. Do not detach any leaf from the Question-Booklet. | 8. Uz —gRT®T # & BIS TS 3T 9 B | TRIEAT & ggard
After the Examination, hand over separately the gof ge—gRA®T 3R ITR—UTH SN & UIdedd Bl
entire Question-Booklet and Answer-Sheet to the drer <
Invigilator.

9. For each question, four alternative answers have | 9. U Usd & U IR IR fAdoy Ay v & RBFH A
been provided, out of which only one is correct. Badt Uh & w21 =1 (A), (B), (C), 3k (D) & wax
Darken the appropriate circle in the Answer-Sheet T2 fahed B ddcd It / Blcl dicd Ulge U BT
by way of using Blue/Black Ball Point Pen, on the BT Y STR—UFH H ST el BT 7R < |
best alternative amongst (A), (B), (C) or (D).

10. Each question has only one alternative as the correct | 10, y@ yed & IR & ®Y § dad UF & T8l Adwed
answer. If response is indicated on more than one 2 Igfe b g3 & forw ue ¥ &1 fahedi U forem=
alternatives or the circle has not been darkened SRTTT T7T 2 31al el bl STIR—UFH § Iy T &I
properly in the Answer-Sheet, as required, it will ¥ et (Dark) =&} frar 721 & A1 S Teld SR AT
be treated as invalid answer and no mark will be G'TQ"TT AR 99 SR B U I i ST FonT |
awarded for that answer.

11. No correction in Answer Column is permissible. | 11. T qR faU MU IR # S YR & GuR AT e
Hence candidate should be very sure about correct B AT 8l 2| gafay SHIQaR gRT el &l W=+
answer before darkening the appropriate circle. In ¥ Yygel Wel SR gHEa s forar Se | & ge
case of corrections or double marking of circles P IR H IR B IR AT AT Tl Bl AR TR I
against same question, it will be treated as 3T AT STRIATT |
INVALID answer.

12. Possession and use of Calculator, Digital Diary, [ 12 wden 9o & deigmeey, e SRR, AqER B
Cellular Phone and Pager in the Examination Hall is T AR BT SO T AT TR 3BT YANT BT
prohibited. Iy 2

13. Each question carries one mark. There is no | 13, yx% UST &I Th b & | Told SN P [T BIs 3ib
negative marking for any wrong answer. 31 BIel ST |

14. If any discrepancy in the Hindi translated version of | 14. af¢ f& w17 & ued & 2= w191 & 1gaQ # &8
any question is found, the question given in English Ffe U Sl & o SfFSn W ¥ fear T ue g
language will be treated as final. JfH 8T |

SPACE FOR ROUGH WORK
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